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1. irit!ITT � � � � lffiJ;, :mq � irit� gm,q;1 cf;\ Q�dlH � � � fcii � cfi1l fir-rr lJq'l,
1'ilT ll1 � !3'1 � anm �, � :r 11' I � � t 'ft1 'P � iritllf01 gm,q;1 � � � I 

2. � arR�fcii OMR �-�'il, ���m;r� amirit� gm,q;1 � A, B, C ll1 D
'ifiT, arR � � fir.rr � � lll fcnia1fd ��am��� �i,q�lfl 3wfl�cm � t I�
'lft'SrcnR��/Rnia1fd��,ij�.�f.m:<:r��� I

3. �'lt��'Cl\mif-ij�llu;�-ij � 31tRT
31jSt>qjq; � t I ��I :J�cfil 'Cl\ 3nf � :r iffii I I

4. � � gl'faq,;1 if 150 w-Jm (ffi) � 1N; � I � w-Jm � � � $IT -ij � t I �
� -ij � � (�) � 1N; � I � � � � ct>l '¥ �, � 3lttr "3ffi:-� 'Cl\ � � -
� 1�3Titfcf,1�"ffifcfi�� 3Tif.l'cn��t ol"3"«�ct>l �����"ffi I
�fflffl*� �'l!ln"ft��t 

5. 3lTtrciiT � � � 31WT � � 1N; �-� 'Cl\ "ft� � � I "3ffi:-� -ij � 1N; � � I
6. 'Rfltmiffl*3icf;WJH� I 
7. � � fcfi 3lTtr �� gfi.aq,;1 * � � * � "3ffi:-� 'Cl\����, 3l1'fcli1' ffl

�-� * mif � � * � � fcmoT "3ffi:-� -ij � � I 

8. 3lTtr � � � ct>1 "3ffi:-� -ij � * � o21f �� * � 'Cl\ � Trff-'Q?l'q; � ct>1 'ffltJ
� I 3Titfcf,1�mif�������t I 

11. � � g�cfil -ij � 'q1lJ � I 'q1lJ A �l+ti-<f c.c1•qftl am 1f.};¥t=ttl * � -ij t � � 75 ffi � I
'qllJB��*�-ijt �� 75ffi� ll;J� 150�*���� I
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Note : English version of the instructions is printed on the back cover of this Booklet. 
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. I 
'lfl'1T A 

tflql.:Q Q1U,fffl 3m �q'dl
1. � � � � lR � � <fit � 3lT � 1 I

� � sfiim: 700 m � 400 mt 1-
t-J <fit lmf 95 km/hr t � � t-f <fit lmf
125 km/hr t I � � q;) 1ITT ffi -ij t-lT q;)
���?

5. A, B � C � � ffl q;) stiim: 20, 25 �
30�-ij��mt I A� Bzytl�
� ffl q;) � � t I �, � 10 � 1"G
:ffl��1 I ffl���q;) C �

(a) 20m
(b) 18ffl
(c) 16ffl
(d) 14ffl

2. � � stRt4'frla, -ij, {{9cl1(%<11 q;) 9 km mu
� stRttcl � � � � � cfl'ra � � 6.
� lR � q;) � � I S1@<1ifrldl cf>1 �
� ffl q;) 1 tia � 30 � -ij � � �
t I � � -ffl <fit mu <fit lmf 8 km/hr t "dT
fcmr <fit lmf � � ?
(a) 16 km/hr
(b) 20 km/hr
(c) 14 km/hr
(d) 18 km/hr

3. � <fR cf' � 3lJqiR -ij � I :ffl � � � �
� �: � cf>1 3lJqiR � � � �
� 6 : 7 � � -ij t I� � cf>1 � 7.
4200 sq. cm t "dT cf' <fit � � � 
�? 
(a) 40 cm
(b) 42 cm
(c) 41 cm
(d) 35 cm

4. � "tJ1if -ij, � � cfilJ-�-cfilJ � � �
t I "tJ1if -ij <fr-I � 1 - �, � � � I 
� � cf>1 � 30 oliRti41 � � � s.
t ,��q@�"oli@i�,ft�t '�
�q@�·�,ft�11�,�
���tsift���zyrr�t
"tJ1if -ij � � 1 ?
(a) 90
(b) 85
(c) 80
(d) 75

KSDG-A-GIP ( 2-A) 

� cfi«IT t I 'ffl q;) � ffi -ij C q;) � �
�?

(a) 4�

(b) 3�

(c) 5�

(d} 6� 

f.l"-i�roid q � cht.f-m � � :,(f t ? 

(a) 100 q;) 1987 -ij � � <ftq � �-ah
�������-ij��

(b} �����-�� 

(c) � � �, 1956� cfi-1{?.cfi cf>1
TJ-a;r���

(d) 1960 -ij � � q;) � � Ji�Rl� -ij
����

R"-i�Rgd -ij � � � � (j�qR, � 
-:N<l�qR, � cf>1 � :,if � t ? 

(a) ��

(b) ��

(c) �.3TT<. -11<Ft.lOl-1

(d) ���

� <fit ;;if-1•101-11, 2011 � �' � <fit 
f.l"-i�Rgd -ij � � �j�Rld � � qfclT 
cf>l���t? 

(a) Gf'l'TclT

(b} 1Rrat
(c) �

(d) °3{_
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PARTA 
GENERAL ABILITY AND INTELLIGENCE

1. Two trains are approaching each other on
parallel tracks. Their lengths are 7 00  m and
400 m, respectively. The speed of the first
train is 95 km/hr and that of the second train
is 125 km/hr. The time required by the trains
to cross each other is :

&. A, B and C alone can finish a job in 20, 25 and 
30 days, respectively. A and B together start 
doing the job. However, they leave it after 
10 days. The remaining part of the job is 

finished by C alone. How many days did C 
take to finish the job ? 

(a) 20 seconds
(b) 18 seconds
(c) 16 seconds
(d) 14 seconds

2. In a swimming competition, the players w� 6•asked to swim 9 km upstream and then 8W1Dl 
back to the point of starting. The winner of the 
competition could complete the task in 1 hour 
and 30 minutes. If the speed of the current of 
the river water was 8 km/hr, the speed of the 
winner is: 
(a) 16 km/hr
(b) 20 km/hr
(c) 14 km/hr
(d) 18 km/hr

S. A wire is in the shape of a circle. It is
straightened and reshaped into a rectangle
whose sides are in the ratio 6: 7. If the area of 7.
the rectangle is 4200 sq. cm, the radius of
circle is, approximately :
(a) 40cm
(b) 42cm
(c) 41 cm
(d) 35 cm

4. In a party, each person takes at least one
beverage. There are three beverages in the
party - tea, coffee and milk. Each beverage is 8.
consumed by 30 persons. Five persons, who
take tea, also take milk. Ten persons, who
take milk, also take coffee. However, no
person takes tea and coffee both. How many
persons are there in the party ?
(a) 90
(b) 85
(c) 80
(d) 7 5

KSDG-A-GIP (3-A) 

(a) 4 days

(b) 3 days

(c) 5 days

(d) 6 days

Which one of the following statements is not 
correct? 

(a) Goa was established as a State by
separating it from Union Territory of
Daman and Diu in 1987

(b) Mizoram was earlier a Union Territory

(c) Karnataka was created by the States
Reorganisation Act, 1956

(d) The State of Bombay was bifurcated into
Gujarat and Maharashtra in 1960

Who amongst the following has not occupied 
the office of both President and Vice President 
of India? 

(a) Sarvepalli Radhakrishnan

(b) Zakir Hussain

(c) KR. Narayanan

(d) Neelam Sanjiva Reddy

As per the Census of India 20 11, which one 
among the following Scheduled Languages of 
India has the highest percentage of speakers ? 

(a) Bengali

(b) Marathi

(c) Telugu

(d) Urdu
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9. \lT«T -ij ciT4r4tfl � �an � 'il'R -ij f.h=t�llsa 12. "?{llTR-f-� � � Ai:=t�llsa -ij � �
ij � ct,'t,J_m cfiiR � -:,'If t ? \Jl-1\Jl1RI � � � � � t ? 

(a) � m � ci=i?414ffi q �8:TI � � �
� mT � �-�-qill �-� � �
�� �i

(b) �mm��� m ij ��a
� � ��(1 \J1"1\JIIRl41 � �
31Ra:fVT qif � t 13. 

(c) � �lcW-lcfi �' 'ffi � ar.='-1' � qtJl
(OBCs) � � 31R� ciiT � �
�i

(d) � Ac:ti-il-t � � �' � �
(j�qR, '1'(T (j-i.J.jqj� � � � �
f.!c:tN-1 � � M � t

10. \lT«T � � � � 14 � �
Ai:=t�llsa -ij � ct,'t,J-m/ct,'t,J-� � � t;i ?

1. � 14 � <fif 'ffi1l � � �
M a4i�•1a 3TI'ITT � � � � 14•
qn:�fd<ii cf@l � � � � M
�t 

2. � 14 � � �-� ij � �
���111���'{{(��
TfRit'SfGRqi«fft

��tro;�ciiTffl����: 

(a) � 1
(b) �2

(c) 1� 2$11
(d) ";f 'ffi 1, ";f � 2

11. � � � \Jl-t•iUi-11 � q1f � TT$ � 15. � � cf1f � G�lc:ttff4 \Jl-t•iOl-11 � f.pffeRf 
fcl�qdl GR � ? 

(a) snlm: 1861 � 1881
(b) siiim: 1776 � 1801

(c) siiim: 1872 � 1881
(d) siiim: 1881 � 1891

KSDG-A-GIP ( 4-A) 

(a) �

Cb> M 

(c) -ml
(d) �

qt4i4ft-t � -ij IDli � � � � 'il'R -ij 
Ai:=t � Ilsa -ij � ct,'t,J -m � � -:,'If t ? 

(a) � ciiT � � ct�ll:j•ld � �

(b) � ciiT • ffl IDli � (village
accounts)� � ciiT ffl� � �

(c) � � � � ffl-� qi)
§A�a �� � �-ij � � �

(d) � � -ij, � � � � aq�{d
ij w:rn � ,jJ@ �

Ai:=t�llsa ij � �-m/�-�, � �
�(1>fd<ii � fclq:;fea wxrr � � 1"'-f � 
5filt-'FT q;) -:r'lf � t /� 1 ? 

1. ���'ill����
2. � � ciiT qflt-ql•i

3. �;rcft�lflJfij�

��tro;�ciiTffl����:

(a) � 1

(b) � 1� 2

(c) 1, 2 � 3

(d) �3

� � ij � (�), Ai:=t�llsa ij
� � ;rm � � � t ?

(a) ��ciiT��

Cb> 1fllf en.ii� ciiT � � �

(c) qi?iqi;_q � � �

(d) 3ffll���m;rcft

., 
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9. Which one of the following statements about 12. 
Panchayati Raj Institutions in India is not

correct?

(a) Not less than one-third of the total
number of the offices of Chairpersons in
the Panchayats at each level are
reserved for women

(b) Reservation for Scheduled Castes and
Scheduled Tribes are provided for at all 13•
the three levels of local bodies

(c) States can provide for reservations for
the Other Backward Classes (OBCs), if
needed

(d) State Election Commissioner is
appointed by the President of India on
the advice of the Governor to conduct
Panchayat elections

10. Which of the following statements in terms of
Article 14 of the Constitution of India is/are
correct?
1. Article 14 would apply only when

invidious discrimination is meted out to 14•
equals and similarly circumstanced
without any rational basis

2. Article 14 guarantees equality before the
law or the equal protection of the laws
wtthin the territory of India

Select the correct answer using the code given 
below: 
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

11. In which year was the first All India Census
attempted and from which year did the 15·
Decennial Census become a regular feature ?
(a) 1861 and 1881 respectively
(b) 1776 and 1801 respectively
(c) 1872 and 1881 respectively
(d) 1881 and 1891 respectively

KSDG-A-GIP ( 5-A) 

Damin-i-Koh is essentially associated with 
which of the following tribes of India ? 

(a) Lushai
(b) Khasi
(c) Toda
(d) Santhal

Which one of the following statements about 
the headman of the village panchayat in 
medieval India is not true ? 
(a) The office of the headman was always

hereditary
(b) The chief function of the headman was

to supervise the preparation of village
accounts

(c) One of the duties of the headman was to
ensure the proper working of the caste
system

(d) In eastern India, all marriages were
held in the presence of the headman

Which of the following do/does not represent a 
break between the Early Harappan cultures 
and the Mature Harappan civilization? 
1. 
2. 
3. 

Large-scale burning at some sites 
Abandonment of certain settlements 
A shift in the course of the Hakra river 

Select the correct answer using the code given 
below: 
(a) 1 only
(b) 1 and 2 only

(c) 1, 2 and 3
(d) 3 only

Tosali is known in Indian History as the name 
of: 
(a) the Jain brother of the Buddhist Upali.
(b) a provincial centre in Mauryan Empire.
(c) wife ofMahapadma Nanda.
(d) a sacred river in Andhra Pradesh.

Previous Pathshala



1&. f.11--1@ Rs.a -ij � cf>t.f � � -rjrrr � cfiT � 19. f.11--t@f&a -ij � cf>t.f-� ";f1R � -ij � � � -

i ? fcfi;rit � -:,ff i ?

(a) �Jili:ld �

(b) �

(c) 3ffllJ

(d) �

17. � 2020 cfi1' 'GfGU � ";f1R � � �

�� m:r�-�cfil���

f.11--1@1°&<1 -ij � � ";f1R en) fc@R m;r �-1$1

� (1'11t1Ffl 1RTm � ?

(a) GlG{l

(b) cftcr

(c) G'J'Ol

(d) f<id�l(-11

(a) �1(-l◄'i (�)
(b) � (G .flG{�s)

(c) �(�)
(d) �(�)

20. f.11--1@1°&<1 -ij � cf>t.f-� ";f1R � cfit � �

fcfi;rit � -:,ff i ?

1. �

2. �
3. �

4. �
��TJQ;�cfil���"3ffi:�:

(a) �1�2

(b) � 1�3

(c) �2�3

(d) �3�4

18. �ctill\41 � � � -ij, f.11--1@1°&<1

cf>t.f-�/cf>t.f-� � � i1i 1

-ij � 21. f.11--1@1°&<1 ij � cf>t.f-�, "d1U � � cfiT � i? 

(a) ��

1. � � "'ifR � -ij 1fit � i

2. � � 50,000 sq. km� � i

3. ����-ij�i

��TJQ;�cfil���"3ffi:�: 

(a) � 1

(b) � 1�2

(c) �2

(d) 1,2� 3

KSDG-A-GIP 

(b) ��

(c) (l�tl4Rcfi �

(d) �-(1(114Rcfi �

22. � 2022 -ij � (Physics) -ij � �

�����?

( 6-A) 

(a) � cfiT fcrcnra (Evolution of Universe)

(b) � ��•idq?. (Quantum Entanglement)

(c) • � (Black hole)

(d) � � (Laser Physics)
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16. Which one of the following states is part of the 19. Which one of the following cities is not

Ganga Basin ? 

(a) Himachal Pradesh

(b) Sikkim

(c) Assam

(d) Odisha

17. Union Territories of 'Dadra and Nagar Haveli'
and 'Daman and Diu' were merged together in
January 2020. Which one of the following
cities was made capital of the merged Union
Territory ?

(a) Dadra

(b) Diu

(c) Daman

(d) Silvassa

situated along river Rhine in Europe ?

(a) Strasbourg (France)

(b) Rotterdam (The Netherlands)

(c) Cologne (Germany)

(d) Vienna (Austria)

20. Which of the following cities are not situated
along the Persian Gulf ?

1. Doha

2. Dubai

3. Jeddah

4. Yanbu

Select the correct answer using the code given 
below: 

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 3 and 4 only

18. With reference to Lake Victoria, which of the 21. Which one of the following is the energy

following statements is/are correct ? 

1. The lake is divided among four countries

2. Its area is more than 50,000 sq. km 

3. It is situated in the African rift valley

Select the correct answer using the code given 

source of stars ?

(a) Nuclear fission

(b) Nuclear fusion

(c) Chemical reaction

(d) Photochemical reaction

below: 22. The Nobel Prize in Physics in 2022 was

(a) 1 only

(b) 1 and 2 only

(c) 2 only

(d) 1, 2 and 3

KSDG-A-GIP ( 7-A) 

awarded for :

(a) Evolution of Universe

(b) Quantum entanglement

(c) Black hole

(d) Laser Physics
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23. m«ft,.J ��, u$ �� � �1-if¾5101 WRH 27. 

� � ffl � t ?
� � (climber) 130 m � M cR=g � 

����i ,��ftRc-ij��
� � t I�, � � � 5 � � t

����� 3ITT��t I� 
��-q���? 

(a) rn��
(b) �� 

(c) 1!���
(d) � � S11,a)fTi4il �

(a) 2 tR 10 ftRc

(b) 2 'cR 45 ftRc

24. cfl':l 2022 � �' m«f -q � � �

�3,�1Pta � � Rl--lR-=tfuia -q � �-Bt

t?

(c) 2 'cR 42 ftRc

(d) 2 'tR 40 ftRc

25. 

(a) � 45000 MW

(b) � 23000 MW

(c) � 7000MW

(d) � 2000MW

50 kg�cnffi�cxllffi��-q� 

t I�� 1 rn/s2�����-�-q 

llIB cf>«ft t <'11 � cxllffi cf)l 'lffi � Rcf>c.d�

-mm ?
(a) 490N

(b) 540N

(c) 440N

(d) 50N

28. � cf;R cf>T � 5000 � -q 44 km � � �

�i ,����t?

29. 

(a) 14 cm

(b) 7 cm

(c) 28 cm

(d) 25 cm

� (347)192 x (143)205 � � � (unit 

place)� �-m � t ? 

(a) 9

(b) 1

(c) 7

(d) 3

26. � � m � Rl--lR-=ifuia # � �-m � � 30. � � � �-Bt t � 9 � "T1fT cflG �
t ? >l'TH � cf@ jUI.J4>� � � � � � �

(a) sa:f (fffi'q � -q sa:f � mat t 5 mm t ?

(b) sa:J (fffi'q � -ij sa:J 3WTTlf m"ffi t

(c) sa:J (fffi'q � -q sa:J � (speed) mat t
( d) sa:J (fffi'q � -q Hl=f � � sa:J

3WTTlf � i
KSDG-A-GIP ( 8-A) 

(a) 95283955

(b) 61728395

(c) 12345675

(d) 59382716
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23. Survey of India, the national survey and 27.

mapping organization, works under the :

(a) Ministry of Education

(b) Ministry of Home Affairs

(c) Ministry of Earth Sciences

(d) Ministry of Science and Technology

24. AB of 2022, which one of the following is the

estimated installed capacity of nuclear power

in India?
28. 

(a) About 45000 MW

(b) About 23000 MW

(c) About 7000 MW

(d) About 2000 MW

25. A person of mass 50 kg is standing in a lift. If

26. 

the lift moves in upward direction with an

acceleration of 1 m/s2, then the weight of the 29•
person will be closest to :

(a) 490 N

(b) 540N

(c) 440 N

(d) 50 N

Which one among the following statements so. 
regarding sound is correct ? 

(a) High pitch sound has high frequency

(b) High pitch sound has high amplitude

(c) High pitch sound has high speed

(d) High pitch sound has low frequency and

high amplitude

KSDG-A-GIP (9-A) 

A climber tries to reach the top of an object 

which is 130 m high. He can climb one metre 

per minute. However, as soon as he completes 

5 metres, he slips down by one metre. The 

climber will reach the top in : 

(a) 2 hours 10 minutes

{b) 2 hours 45 minutes 

(c) 2 hours 42 minutes

(d) 2 hours 40 minutes

The wheel of a car covers a distance of 44 km 

in 5000 revolutions. The radius of the wheel 

is: 

(a) 14 cm

(b) 7 cm

{c) 28 cm 

{d) 25 cm 

The digit in the unit place of the number 

(347)192 X (143�5 is :

(a) 9

(b) 1

(c) 7

(d) 3

What is the smallest number, which when 

multiplied by 9 gives the product having the 

digit 5 only in all places ? 

{a) 95283955 

(b) 61728395

(c) 12345675

(d) 59382716
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31. � film c#i)" �' � 35f c#i)" � � 4 � -« .35.
2 qlf �i, � � �33fic#i)" ��
5 � -« ,ft 2 qlf � i I Nfil, 35f � 33fi c#i)"
� � 20 qlf i I 33fi c#i)" � � i ?

(a) 6qlf

(b) 12 qlf

(c) 10 qlf

(d) 8 qlf

32. f.li..t�Rsld -ij -« �-ffl, � � � �

'WT-III -ij �-� � (the State)' � 
36

·
cf;J eqf�ct> � � i ?

(a) � mcnR, -e'1ft � mcli1t � � �
�-� � � -e-,:ft � snft:lct>l-0

(b) � c#i)" � � � � �-�

m«r � � c#i)" • � � � m -q, 
f.li..t�Rsld if-a �-ffl/�--« ��if�? 
1. � � qlf 1921 -ij � -ij � �
2. � T1o-J � �,���(Speaker)�

�����
��lN:�cf;Jffl����: 
(a) � 1
(b) �2
<c> 1� 2GR1
(d) -;r ell 1, -;r � 2

cR �l-€iJIRa � c#i)" � -«, � -ij � "${ 
��--«�? 

(a) � �, �(iOll-i:ict � � m·fte•1�
(b) �' 3Hiull-cict � � �
(c) �(iOll-cict �' � � �
(d) ��,3Timrr��

(State Legislatures)

(c) � mcfiR � � c#i)" �

(d) � mcnR, -e'1ft � mclilt, � c#i)" �
� -e-,:ft � fcrtlr-f-� � m«f �
�-� � � -e-,:ft � � �
:Sll�cfil-0

87. f.li..t�Rsld {Fifl3TI' -ij -« � ffi � �lctl�&
-ij q('il("J.11 � � � -ij � lp;JT i, � 'ffl!J
(,re) c#i)" � � � <�) � mm cf;J
cf;RUli?

34. f.li..t�Rsld -ij -a � � -ij • � � GT � 39. f.l"-i�Rsld if -« � � � -ij m;:fi � �

q,Jf�t? � � �� � � � � -ij �

(a) 3,l(i0fl,:i(.'i �

(b) TOO

(c) �

(d) �

KSDG-A-GIP ( 10-A) 

��? 
(a) �m�;jf�j �
(b) ";jfRlllm-l
(c) ���
(d) �-�- �
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31. 

32. 

33. 

A father's age is 2 years more than 4 times the 35. 
age of his son. His age is also 2 years more 
than 5 times the age of his daughter. The 
average age of the father, the son and the 
daughter is 20 years. What is the age of the 
daughter ? 
(a) 6 years
(b) 12 years
(c) 10 years
(d) 8 years

Which one of the following is the most 
accurate meaning of the term 'the State', as 
defined in Part-III of the Constitution of 36. 
India ? 
(a) The Union Government, all State

Governments and all local authorities
within the territory of India

(b) The Parliament of India and State
Legislatures

(c) The Union Government and the
Parliament of India

(d) The Union Government, all State 37.
Governments, Parliament of India and 
all State Legislatures and all local or 
other authorities within the territory of 
India 

Which one among the following political 
parties came second in terms of seats won in 
the first Lok Sabha election in India ? 88. 
(a) Kisan Mazdoor Praja Party
(b) Communist Party of India
(c) People's Democratic Front
(d) Socialist Party

34. Which one of the following States has less 89.
than two Lok Sabha seats ?
(a) Arunachal Pradesh
(b) Goa
(c) Meghalaya
(d) Mizoram

KSDG-A-GIP (11-A) 

With respect to the Public Accounts 
Committee of the Parliament of India, which 
of the following statements is/are correct ? 
1. The committee came into existence in

the year 1921
2. It was not a Parliamentary Committee

under the control of the Speaker at the
time of its inception

Select the correct answer using the code given 
below: 
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

In terms of area under forest cover, the top 
three states in India are : 
(a) Madhya Pradesh, Arunachal Pradesh

and Chhattisgarh
(b) Mizoram, Arunachal Pradesh and

Meghalaya
(c) Arunachal Pradesh, Maharashtra and

Odisha
(d) Madhya Pradesh, Odisha and

Maharashtra

Who among the following kings is described in 
an inscription as the Supreme Being, the 
cause of the prosperity of the good and the 
destruction of the bad ? 
(a) Gautamiputra Shatakami
(b) Kanishka
(c) Samudragupta
(d) Harshavardhana

Which one of the following Tamil texts deals 
with grammar ? 
(a) Manimekalai
(b) Silappadikaram
(c) Tolkappiyam
(d) Padirruppattu

Who among the following did not contribute to 
the preservation and documentation of the 
ancient site of Sanchi in Madhya Pradesh ? 
(a) Shabjahan Begum
(b) John Marshall
(c) Sultan Jehan Begum
(d) J.M. Kenoyer
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40. 1ftm �' cnT f4f.iqfu1 � '1U M \jJl ® 43. � wan � � 'i11t -ij Ai:.tlftfuitt -ij "Q
t ? 

.....-rih',,,.....,. 

�-m /�-"Q � � t 1i ? 
(a) � Q_llfqiffi 
(b) G llWJ �

41. Ai:.t@fuitt � q{ � � : 

� ffl(f t fcf; � � (IG[ 1l<f � 1ft �, � cf1f
1950 'q � � � � � � � �
"ijq; � lp;JJ �  , � �� �� �om
� �  � m � �  (m �) -q
� � lp;JJ � I � � �ftlcfi{UI � �
� -ij � m<fiR � � � � � fifAiffi 44•
� (��m �) A�fftt cm;, � 1l<J � � 
i"f�d � cnT f.$T � t I

� � c#n � � : 
(a) � �
(b) §cfilql$cfil ;J<ft
(c) � �
(d) � �

1. � � � � � � � '1U
"f?.ITft@ 3lf<l..q�tq'ff � 3TI1[d �
� � �  cfn �  !

2. \fflo � � cnT \TI1flGR � t  I
� � � � q;J ffl � � � � :
(a) � 1
(b) � 2

(c) 1 �  2�
(d) � ell 1, � � 2

� � � � �$-ilf> c#n � � -ij 
100 cf1f c#n � -ij � -g) lft I � Ai:.i lftfuitt if 
"Q � � � � � lp;JJ � ? 
(a) cfffi(Sllil-:ift-1 cnT "1114&:fiR
(b) � cnl �lfcc&:fil<
(c) iftfi.i;qq_� � Jifcf>�d �
(d) lllV� $-1�fill< fifcfiflttt �

42. Ai:.t@fuitt � q{ � � : 

46. �� � � -ij, Ai:.tlftfuitt -ij "Q �-m/

�-"Q � � t/! ?
1. � 2022 -ij, � � � � �

�, fqjft,qcfi(, � zj�l(on;q qqfq(Oj *
� � llrfq � � � -ij �
� � � � � � M

2. \fflo � � � -ij "Q � �, � 1@
� "Q � � q;J � �

� -ij "Q �-m/�-"Q � � !/! ? 
(a) � 1
(b) � 2
(c) 1 �  2 �
(d) � ell 1, � � 2

KSDG-A-GIP ( 12 - A )

1. � '5l'q'@ � � t'lfi1 "Q 'iR1 � "4ij'{_{'!
t

2. � � c#n � "Q \fflo q;J � �
� �-� t

3. � cnl � ci(lcHU'-1 � � �
,,Rtfif ftlqj' �

� � � � q;J ffl � � � � : 
(a) � 1 � 2
(b) � 1 � 3
(c) � 2 � 3
(d) � 1
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40. 'Predator Drones' are manufactured by :

(a) General Atomics

(b) The Boeing Company

(c) Lockheed Martin Corporation

(d) PrecisionHawk

41. Consider the following statements :

43. Which of the following statements is/are
correct about Mineral Security Partnership ?
1. It is an initiative to bolster critical

mineral supply chain, established by the
United States of America and other
countries.

2. India is not a partner of this initiative.
Select the correct answer using the code given 
below : 
(a) 1 only
(b) 2 only 
(c) Both 1 and 2
(d) Neither 1 nor 2

It was alleged that the river became dead
after its mouth was closed restricting its free
flow in 1950. The entire river bed was
converted into a dumping ground for garbage
and solid and liquid waste. The National
Green Tribunal has recently directed the State
Government to revive the dead river by
earmarking dedicated fund for the purpose. 44• John Goodenough, a Nobel Prize winner, 

recently passed away at the age of 100. He 
was awarded the Nobel Prize for : Identify the river : 

(a) V amsadhara river

(b) Sukapaika river

(c) Musi river

(d) Ulhas river

42. Consider the following statements :
1. In July 2022, the United Nations

General Assembly adopted a Resolution
recognizing the right to a clean, healthy,
and sustainable 
human right 

environment as a

2. India was one of five countries, which
had originally proposed the Resolution

Which of the above statements is/are correct ? 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2
(d) Neither 1 nor 2

(a) Inventing Chlorpromazine
(b) Inventing Morphine
(c) Developing Lithium-ion battery
(d) Developing HIV protease inhibitors

45. With reference to Lakshadweep, which of the
following statements is/are correct ?
1. 

2. 

3. 

It is an archipelago consisting of coral
islands and reefs
It is the smallest Union Territory of
India in terms of area
The main occupation of people is 
tourism and allied activities 

Select the correct answer using the code given 
below : 
(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1 only

KSDG-A-GIP ( 13 - A )
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46. Aq�fula if � �-� � ◄lk'lcfi �*<'fl  1R 49. Aq�fula 'if � �-� �-� � ffl
� ;rff i ?  � � 'if � i ? 

(b) fi6fif;;,ttal-l

(c) �

(d) gci,qAtal-l

48. �(:'!NPTI� � � * � 'if, Aq�fula 'if �

�-m/�-� � � t;i ?

(a) � 1 � 2

(b) � 1 � 3

(c) � 2 � 3

(d) � 3

1. �fffq,�

2. �

3. �•1<1dl

� �  1ro: � cfil ffl � � � � : 

(a) � 1 �  3

(b) � 2 � 3

(c) � 2 � 4

(d) � 3 � 4

50. Aq�fula 'if � � � cfiT � � �

'if � (lubricant) * � 'if ':fff � � l ?

(a) � (Graphene)

(b) � (Talc)

(c) ffl (Glass)

(d) 1fR-l (Sand)

51. Aq�fula q � �-m, � ffllff � a<•1�uil

*� � jf;Jf cf>1  A�fila � � ?

(a) FM � * � � > AM � * �

� > �� oiij > � > � �

(b) AM � * � � > FM � * �

� > � oiij > � > � �

(c) �� � > AM � * � � > FM
� * � � > � > � �

(d) AM � * � � > FM � * �

� > � > � � > �a:q oiij

KSDG-A-GIP ( 14 - A )  
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46. Which of the following countries are not 49. Which of the following coal-based power plants 

situated along the coast of the Baltic Sea ? are situated in Uttar Pradesh ? 

(a) Latvia and Poland 

(b) Latvia and Russia

(c) Sweden and Russia

(d) Sweden and Norway 

47. Lake Balkhash is situated in which one of the 

following countries ?

(a) Kazakhstan

(b) Kyrgyzstan 

(c) Russia 

(d) Turkmenistan 

48. With reference to the Galapagos Islands,

which of the following statements is/are 

correct?

1. They are formed due to volcanic activity 

2. They are part of the South American 

nation, Peru 

3. They are situated in the Pacific Ocean

Select the correct answer using the code given 

below : 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 3 only 

1. 

2. 

Darlipali 

Dadri 

3. Singrauli 

4. Vindhyachal 

Select the correct answer using the code given 
below : 

(a) 1 and 3 only 

(b) 2 and 3 only 

(c) 2 and 4 only 

(d) 3 and 4 only 

50. Which one of the following substances is not
used as a lubricant in heavy industries ?

51. 

(a) Graphene 

(b) Talc 

(c) Glass 

(d) Sand 

Which one of the following represents the 
correct order for the wavelengths of different 
waves? 

(a) Used for FM radio > Used for AM radio 
> Microwaves > Infrared > Visible light 

(b) Used for AM radio > Used for FM radio 
> Microwaves > Infrared > Visible light 

(c) Microwaves > Used for AM radio > Used
for FM radio > Infrared > Visible light 

(d) Used for AM radio > Used for FM radio 
> Infrared > Visible light > Microwaves 

KSDG-A-GIP ( 15 - A ) 
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52. � � � i q�1fclfik (� �) � � 56. � -ij q;rt � � � <TOFU q;1:tisM i_.fl�l:s 
�' � �  3ij141Rd � � fcf;a;ft t ? � � -q;f(  �l�:fl.fct gc:4(:'jqqc: (USAID) �

(a) 0·3 fil�lH qlf 

(b) 4 - 6 fat�'-H qlf

(c) 7 - 10 fai�4"1 qlf

(d) 13 - Hs fat�4.f qlf

53. � m cfiT crrqt:fR 240 K � � 210 K �

� t I �  q;1{-1�l$l il, crrqt:fR -ij WRJ �

(� � fir-IT) � f.tc:f>l � ?

(a) 54° F

(b) 30° F

(c) 17° F

(d) 44° F

54. � -ij Ai:.t�fu.d � � � -acfl< -ij ,frq.-i@ �

� 3Titlcfi @@ � t ?

(a) "Jffl1T

(b) �

(c) � (�

(d) �

55. f.\q�fu.a -ij � � 1fclc:1ITH R:tfc+;�u cfiT '\iRc:f>' 

lfRT � t ?

(a) Psnl"R41"1 �1�q;q1-1 (Christiaan Eijkman)

(b) � �Tqfct;e (Frederick Hopkins)

(c) q;1�ftl( � (Casimir Funk)

(d) � � (Robert Woodward)

� � � q4fi:4(01, q;r � "1cti:41� \lftc@;J

� � � � llt �-ffl � � t

� c:f>l4sh'i -ij � � lfRf ,wflGR � cflt.:r-� 

1 ?

(a) 3fflll, �' �A:41011, (1'11�1.f , '!�RI�,

'3ffi: � � @'tfle11�

(b) 3fflll, �' e;ft4IOII, (1-il�l.f, �'

� � � "if11@

(c) 3ffl.T �' �, <1"1�R, m:fle,1�, �

"if1T@ � d ftlct.f 1§, 3TimTT

(d) 3fflll, 3ffl.T �' E?ft4tull, 3Timrr,
(l;'jffifl-1, dfi!ct.fl§ � '3ffi: �

57. f.\q�fu.d -ij � cflt.:r--m cfiiR, "1cti:419, qftqd.f 

� ��c:f>icf> (CCPI)-2023 � � �

-:,ff t ?

(a) � � CCPI-2023 -ij � 2 � �

� � t

(b) � qi) CCPl-2023 -ij sij � 1R '<ffl TJ1.ll

t 1

(c) �, fficr -ij '11ctcll� � 1R �

� cfi8 � � � � -ij 3lT Tf1.ll t

(d) � �-ilq;jq; -ij � qi) � -ij � �

'fl 1$l:S � � � � TJ1.ll t I

KSDG-A-GIP ( 16 - A )
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52. According to the Big Bang theory of the origin 56. Trees Outside Forests in India (TOFI)
of the Universe, the age of the Universe is
estimated at about

(a) 0·3 million years

(b) 4 - 6 billion years

(c) 7 - 10 billion years

(d) 13 - 18 billion years

53. The temperature of a body decreases from
240 K to 210 K. The corresponding change
(without sign) in the temperature in degree
Fahrenheit is close to

(a) 54° F

(b) 30° F

(c) 17° F

(d) 44° F

54. Which one among the following sectors m
India consumes the maximum amount of
groundwater ?
(a) Industry
(b) Agriculture
(c) Household
(d) Mining

55. Who among the following is considered as the
'Father of Vitamin therapy' ?
(a) Christiaan Eijkman
(b) Frederick Hopkins
(c) Casimir Funk

(d) Robert Woodward

programme is a five-year joint initiative by the
United States Agency for International
Development (USAID) and the Ministry of
Environment, Forest and Climate Change,
Government of India. Which are the seven
participating states of India in this
programme ?

(a) Assam, Bihar, Haryana, Rajasthan,
Maharashtra, Uttar Pradesh and
Chhattisgarh

(b) Assam, Bihar, Haryana, Rajasthan,
Gujarat, Punjab and West Bengal

(c) Andhra Pradesh, Punjab, Rajasthan,
Chhattisgarh, West Bengal and Tamil
Nadu, Odisha

(d) Assam, Andhra Pradesh, Haryana,
Odisha, Rajasthan, Tamil Nadu and
Uttar Pradesh

57. Which of the following statements is not

correct as per the Climate Change
Performance Index (CCPI)-2023 ?

(a) India has jumped 2 spots higher in
CCPI-2023.

(b) India is placed at the 8th rank in
CCPl-2023.

(c) India is amongst the top 5 best
performing countries in the world on
climate change.

(d) India is placed lower in rank in this
index than Norway and United
Kingdom.

KSDG-A-GIP ( 1 7 -A ) 
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58. UNDP * � �il'il�cfi � �ilcfiicfi' (� 61. 'N 3ff< 'B' * -crm � fl 1'it � 3 : 4 * �
ll t  l � * cfillf * �, 'A' � �  600 � -� � "Wm) * � � f I �

f.li:t�Rsia 11 -a �-m � � :,ff t ? 

(a) <I-ii .ft fa cf>

(b) �

(c) ei�facfi

(d) :ti 1<lftcf>

59. � � "ilR -a �  f.li:t�Rsia � 1R
� � :

1. � � 2021-22 11 � � 'cfiT ;;mt
� 1'it � 1'it 111 �

3. � m � qfl4'-it-tl� * � mrrtr-f

� � ;;mt � �
4. � m � � t � � �

mfwn, q4fq(oft4 � "Q eq1<oft4 3ff<
� � qfl4'-il-tl� 11 f.mr * �
f

� 11 -a  � "i:fi¥R � f ? 

(a) 1

(b) 2

(c) 3

(d) 4

60. f.li:t�Rsia R< e�<:1-t (m) /e�<:1-t 
(�) 11 -a �-m, � 3WITTR � i �

� :,ff t ?

(a) UN 2023 qR< � : �

(b) SDG m 2023 : i:41�11161, � 

(c) c:f<:11$ql � : � 
m 2023

(d) COP 28 : �

�' � 'B' � � 500 � � I �, �
11 'N � � 150 � � 3ff< 'B' � � 100 � 
� 1 � � * 3ffl ll, � -crm WJR  � 
t, ffl � 'A' * -crm fcf;a;fi � fl 1'it � 
� ?  

(a) " 150
(b) '°' 200
(c) " 250
(d) " 100

(a) 10%
(b) 30%
(c) 20%
(d) 40%

63. � � 2 qlf 1';t � * � 5% � �
1R � � t I � � � � 'cfiT 5% 
�sti1� dilITTr 1R 2 cffi * � � 1R � � t I
� � � 2,100 "cfiT � � i ffl � fcf;a;fi
� "cf>T � m � ?

(a) " 8,00,000
(b) " 4,20,000

(c) " 1,00,000
(d) " 8,40,000

64. f.li:t�Rsia 11 -a �-lit � �
'q1g i ?

(a) Na

(b) K
(c) Ca
(d) Mg 

KSDG-A-GIP ( 18 - A )
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· 58. UNDP's 'Gender Social Norms Index' 61. 

comprises four dimensions. Which of the 

following is not a dimension ? 

'A' and 'B' have pocket money in the ratio of 

3 : 4. After the day's work, 'A' earned � 600 

while 'B' earned � 500. However, 'A' spent 

� 150 and 'B' spent � 100 during the day. If
they have equal amount of money at the end of 

the day, then the pocket money 'A' had in the

morning is : 

(a) Political

(b) Educational

(c) Cultural

(d) Physical

59. Consider the following statements related to

'Sovereign Green Bonds'

1 .  Union Budget 2021-22 announced the

issue of these bonds

2. 

3. 

4.

The Government of India has approved 

a Sovereign Green Bonds Framework 

These bonds are meant to be issued for 

mobilizing resources for green projects 

These bonds are financial instruments 

that generate proceeds for investment in 

environmentally sustainable and 

climate suitable projects 

(a) � 150

(b) � 200

(c) � 250

(d) � 100

62. A businessman lost 20% of his goods due to

rain. The remaining items were sold at a profit

of 50%. The businessman earned an overall

profit of :

(a) 10%

(b) 30%

(c) 20%

(d) 40%

How many of the above statements are 
63_ A man takes a loan at 5% simple interest for a 

period of 2 years. He immediately gives this 

money on loan at 5% compound interest for 

2 years. What is the amount of loan he has 

taken ifhe makes a profit of � 2,100 ? 

correct ? 

(a) 1

(b) 2

(c) 3

(d) 4

60. Which one of the following 

Summits/Conferences is not correctly paired 

with the place of the summit/conference ? 

(a) UN 2023 Water New York 

Conference

(b) SDG Summit 2023 Washington, DC 

(c) Climate Ambition New York 

Summit 2023

(d) COP 28 Dubai 

64. 

KSDG-A-GIP ( 1 9  - A ) 

(a) � 8,00,000

(b) � 4,20,000

(c) � 1 ,00,000

(d) � 8,40,000

Which one among the following is the most 

reactive metal ? 

(a) Na

(b) K
(c) Ca

(d) Mg
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65. f.:li:.tR?iflid � $ � -ij � �-"ffl �, � 69. 

� � � lffll" � lRT<ll t ?
X � y $ l{t;;q M � -ij, X q;) y � � 'IR, 
� GJR � " 10 � �  I � � � t, "d1 
� y �  " 50 �  I � � 15 GJR M f  � 
X "  450 � � t, "d1 X �  GfR � t ?  

(a) tfm, �, �

(b) �, �, tfm

(c) ifN, m, trm

(d) �, m, trm

(b) � $ � � � $ �

(c) � $ � � � $ �

(d) � $ 3TIUf (flipper) � m $ �

� 1r4uft&1' qiJ � � 'fl ?

(a) (-lf4-ifld l

(b) 1r'f@ �

(c) fill@ �

(d) Sflkilcfi �

(a) 8

(b) 9

(c) 10

(d) 12

(a) 50% 

(b) 60% 

(c) 40% 

(d) 45% 

71. f.:li:.tR?iflsid -ij � �, cl'f 2022 -ij � � $
fcm1 f ?

(a) � �31i

(b) 1ftdi-i!R?i �

(c) � cfi(iUIIRt�cfil 

(d) � �

72. � � qiJ � � t � NASA � �ddl11fql

68. f.:li:.tR?iflsid -ij � '�.1-ild<friuft' � qiJ � � � 'cfil � 'def) a � c1it cmRT $ � \ll1T

i ? $ � -q, � 2022 -ij � � ?

(a) � (a) SWOT 

(b) �
(b) �

(c) �
(c) $•+EU$?. �

(d) �
(d) � 'Q.<ffl  (SpaceX) 
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65. Which one of the following groups
organisms correctly makes a food chain ?

(a) Grass, Goat, Human

(b) Elephant, Goat, Grass

(c) Tiger, Snake, Grass

(d) Insect, Frog, Grass

66. Which one of the following pairs correctly

69. In a game between X and Y, X has to give 
'° 10 each time he loses to Y. If he wins, then 
he gets '° 50 from Y. If they play 15 times and 
X earns '° 450, how many times does X win ?

(a) 8

(b) 9

(c) 10

(d) 12

represents an example of analogous organs ? 70. A man purchases 5 shirts in a 'buy two, get 

(a) Forelimb of horse and human arm

(b) Human hands and wings of birds

(c) Wings of birds and wings of insects

(d) Flipper of whale and forelimb of frog

67. Who among the following directed the film

five' scheme. How much discount percentage 
did he get ? 

(a) 50%

(b) 60%

(c) 40%

(d) 45%

'Subarnarekha' made on the partition of 71. Who among the following was the winner of 
India ? the Booker Prize in the year 2022 ? 

(a) Satyajit Ray

(b) Mrinal Sen

(c) Bimal Roy

(d) Ritwik Ghatak

68. Who among the following is the author of the
book 'Rajtarangini' ?

(a) Bilhana

(b) Kalhana

(c) Banabhatta

(d) Bhavabhuti

(a) Douglas Stuart

(b) Geetanjali Shree

(c) Shehan Karunatilaka

(d) Amitav Ghosh

72. What is the name of the vehicle which NASA 
launched in November 2022 as part of a plan
to eventually carry humans to the Moon ?

(a) SWOT 

(b) Artemis

(c) Insight Lander

(d) SpaceX

KSDG-A-GIP ( 21 - A )
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73. � 2023 -q, 'TI«f � � ..:q141<i1� 1R �tjJfl-t
'qR qi) cfiJJ � * � "Q q1U4fti.1'{_ 31tt �
�, 1996 -ij � � �q;1ftit1 cm- * �
� � � cf>T 1lo-J � t I f.li=-t�fuia -ij 76•
"Q � � � cf)l � t ?

� (Python) � t ? 
(a) �-� \1l'fT (High-level language)
(b) cfi\.sid{OI \1l'fT (Assembly language)
(c) � \1l'fT (Machine language) 

(a) � 'TI«f cf;I q�1..:q14c11ct)

(b) � � �
(c) � � fcntf �
(d) � �c11f.l�-t1 'TI«f cf>T � .-414¥@ 

74. f.li=-t�fuia if -a � Gfa � m«J-w;R � c#it
w� c#it � t ?

(a) � � Gfa (BSF)

(b) 'TI«f-� � � (ITBP)

(c) � {l�CfiH1
(d) � � Gfa (SSB)

75. � I qi) � II * mil � � 31tt
� * � � � � cf)l m q;{ � "3ffi:
� :

A tti}.ijijq{l-1 cll{(l,4< 
� 

B. Q,-1�{fit) �

C. wiffl � �

�II 
{�,'?➔II.fl) 

1. �l�Q,-1� �'
�

2. �l�Q,-tQ,ij �'

3. �l�Q,-tQ,ij �,
1TiqT

D. �lclltllt.4� 3;ftt 4. INS �,
it11tlftcf> � �

� :
A B C 

(a) 3 2 4 
(b) 1 4 2 

(c) 3 4 2 
(d) 1 2 4 

D 
1 

3 
1 
3 

77. 

78. 

(d) � � \1l'fT (Data definition
language)

f.li=-t�fula -ij "Q �-tj), '1il<iisf>q ijjffi1Rt'1 
(network topology) -:,'If t ? 

(a) 1ffi (Bus)

(b) 'dT{cf> (Star)

(c) '1il<i11� (Mesh)

(d) w:r-� (Peer-to-Peer)

� * � -q;f1f (two's complement form) -ij - 8 
31tt - 2 cf>T �31Nltt 1.111T (binary addition) cf>T 
-qftuJm � t ? 

(a) 10110

(b) 0110

(c) 1110

(d) 0111

79. f.li=-t�fuia -ij -a �-lft, f.$R-� (Pointing
device) -:,'If t ?
(a) �fsfil-1 (Touchscreen)
(b) �cfiiiiT<ii (Trackball)
(c) "5l'cfim � (Light pen)
(d) st,qcft� (Scanner)

80. d�fl-0 (Registers) -ij � >JcfiR (�) *
faq1f.l::1 (flip flop) cf>T '5llITlT � \iJ@1 t ?

(a) D >JcnR (�)

(b) SR
(c) T >JcnR (�)

(d) JK
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73. In June 2023, the Government of India set up 
an expert panel to recommend reforms in the
Arbitration and Conciliation Act, 1996 with an
aim to reduce the burden on courts. The
Committee is headed by who among the 76•
following ?
(a) The incumbent Attorney General of

India
(b) The incumbent Law Secretary
(c) A former Law Secretary

PART B 
PROFESSIONAL SKILL 

Python is a :
(a) High-level language
(b) Assembly language
(c) Machine language
(d) Data definition language

(d) A retired Chief Justice of lndia 77. Which one of the following is not a network 
topology ?

74. lndo-Bhutan Border is guarded by which one
among the following forces ?
(a) Border Security Force (BSF)
(b) lndo-Tibetan Border Police (ITBP)
(c) Assam Rifles
(d) Sashastra Seema Bal (SSB)

75. Match List I with List II and select the correct
answer using the code given below the Lists :

List i List II 
(Indian Navy (INS) 
Training Institute) 

A. Anti-Submarine 1. INS
Warfare School Venduruthy,

Koehl
B. NBCD School 2. INS Kunjali,

Mumbai
C. Music Training 3. INS Mandovi,

School Goa 
D Provost and 4. INS Shivaji,

Physical Training Lonavala
School 

Code : 

B C 

(a) 3 2 4 1 
(b) 1 4 2 3 

(c) 3 4 2 1 
(d) 1 2 4 3 

78. 

79. 

80. 
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(a) Bus
(b) Star
(c) Mesh
(d) Peer-to-Peer

The result of binary addition of - 8 and - 2 in 
two's complement form is : 
(a) 10110
(b) 0110
(c) 1110
(d) 0111

Which one of the following is not a pointing 
device ? 
(a) Touchscreen
(b) Trackball
(c) Light pen
(d) Scanner

Which type of flip flops are used in registers ? 
(a) D type 
(b) SR
(c) T type
(d) JK
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81. DBMS -ij f?fi41cfi�tlq '5(iJtH ( transaction 84. � �aWtcti Wall � �, 1968 c#a
management) -ij ACID � (properties) tTIU 8 � 3ltfR � � M  � � �
� � � � t ? � � -a � M \«ff � � CISF 

Q_lifq�i, , cfii-1q;«ft, �1$�',d:tH,
� � �� � � � c#a FciAglil 

(a)
� 'cf4T t ? 

�fat@il 
(a) "3-a � � � � c#a mm -a �

(b) �iil-1iifl , ctiRI-Rel, �1$�d:tH, lITTf c#a � � �
�fat@il (b) -a-a � � � � c#a mm -a �

(c) Q,lfl'l�ll , cf>Ri-Rel , �1$ttld:tH, lITTf c#a � � �

�fat@il (c) -a-a � � � � c#a mm -a -$J

Q.lfl'l�il , ctiRldel , $-tfq,�@il,
lITTf c#a � � �

(d) 
-a-a � � � � c#a mm -a �

�fat@il 
(d)

lITTf c#a � � �

82. CISF � � 1« Aj..j@Rsa -ij -a cf>t.J-m

� "ffi1l � � t ?

ss. � �ilfrtcti � � �, 1968 �
3ltfR \«ff � � � �-� � �
(restrictions) � � � I '3-1' lR Aj..j@Rsa -ij 
-a cf>t.J-m "ffi1l � � t ? 

(a) � � �, 1961

(b) � � �' 1860

(c) � � �, 1936

(d) � � 3iR4A4q, 1988

83. ffl� � � CISF � M \«ff � S6.

�-� cfil', -it � � 'cfiT �

� -a "4'T -aq� � t Aj..j@f€ta if
-a cf>t.f-m � ;rt! � � � ?

(a) 30 � � � � � �

(b) � � -a cim M �

(c) � Wf,.TI

(d) �
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(a) M ollcH-114 � "4'T S3m � � �
���l,�a �

(b) � (l(;t�Rtcfi WJ1J 'cfiT � �

<c) M � �,�114il 'cfiT � � � � 
� \f11T � � -q qrr4dl511R -1'1 t

(d) a�rA<fi '5iq;J( c#a � � 51cfil�ld �

� 3iiQ1frtcfi Wall � �, 1968 c#a
tTIU 18 � 3ltfR � � M �Rtsfiqo1 
(violation) "4'T M � "4'T � "4'T M
ffl� � � � 1fll_ l4R4'fli � cfi)
(;I H i($tcfi( WT � "4'T � (;I H\_$1 cfi( "Jqlffi
�, � � � � � � ?

(a) � � z;iq Hcfl4

(b) � � z;iq1-1d)4 

(c) � � �z;iq1-1tft4 

(d) � � �(;t'l l-ttfl4 
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81. ACID properties in transaction management 84. What is the prescribed duration for filing a

in DBMS stands for 
revision petition by an enrolled member of the 

CISF aggrieved by an appellate order against 

(a) Atomicity, Concurrency, Isolation, an order made under Section 8 of the 

CISF Act, 1968 ? 
Durability 

(a) Within a period of one month from the 

(b) Autonomy, Consistency, Isolation, date on which the order is 

Durability communicated to him 

(b) Within a period of two months from the 
(c) Atomicity, Consistency, Isolation, date on which the order is 

Durability communicated to him 

(d) Atomicity, Consistency, Infidelity, (c) Within a period of three months from 

the date on which the order is 
Durability 

communicated to him 

82. Which one of the following Acts shall not

apply to th� members of the CISF ?

(d) Within a period of six months from the 

date on which the order is

communicated to him

(a) Dowry Prohibition Act, 1961

(b) Indian Penal Code, 1860

(c) Payment of Wages Act, 1936

(d) Prevention of Corruption Act, 1988

83. Which one of the following may not be

awarded as punishment by the supervisory

officer to any enrolled member of the CISF

85. All members enrolled with the force under 

CISF Act, 1968, are subject to certain 
restrictions. Which one of the following does 

not apply to them ?

(a) Associate with any trade union or labour 

union 

(b) Be a member of any political association 

(c) Be a member of any society that is not 

recognized as part of the force 

(d) Publish a book of scientific character 

86. What is the nature of offences such as
who discharges his duties in a careless or violation of duty or wilful breach or neglect of

negligent manner ? any rule or regulations or lawful orders of a

supervisory officer under Section 18 of the
(a) Fine amounting to 30 days pay CISF Act, 1968 ?

(b) Deprivation of special emolument 

(c) Withholding of promotion 

(d) Censure 

KSDG-A-GIP ( 25 - A )

(a) Cognizable and bailable 

(b) Non-cognizable and bailable 

(c) Cognizable and non-bailable 

(d) Non-cognizable and non-bailable 
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87. AqfM-Oiid � -q-{ � � 89. �:!<�'-f>1 � �, wwr � �-� cnr

1. 'B' � anr.J cfil' � � � � CO2
f.ttITTUT � 3Tit:m: -q-{ � -illffl t ?

cnr m � � 1. alj{� � -ilR cf@ � (ctiT..c:11�) c#it
2. 'B' � 3lfr.J cfi1' � � � � � � aw �

��cnrm���i
mtf � � c#it �, � � �2.

3. 'B' � 3lfr.J cfi1' � � � � tf,.J t
-:J4fr.i:tll qct, cfiJf � � �

4. -cn;1t c#it ,m cnr � m � ��tro:�cnr m � � � � : 

� � � 'B' � 3lfr.J � �
(a) � 1

t

� � -ij "Q cf>i;J."Q � -:,ff � ? (b) � 2

(a) � 2 � 3
(c) 1 �  2 '$1l

(b) � 1 � 2
';f m 1, ';f � 2(d)

(c) � 3 � 4

(d) � -ij "Q � �

90. � 1mt � � Aq@f-Oiid if "Q � �/fcR
fcw.n cfit � \JIH�itl � � t ?

88. �-� � � � � � � cf>i;J."Q anJ c:CI  �(?fiit,Rt 
� ?

1. 

1. � � -ij 2. � qi'f -,j.jij&f j �

2. M � � fcf;;m: � q@ � -q-{ 3. �Udcfiql� � c#it �q�Rt (location)

3. � -q-{, � -cn;fi � m � t � � TJQ; � cf;T ffl � � � � : 
� � TJQ; � cf;T ffl � � � � :

� 2 � 3
(a) � 1 � 2

(a) 

(b) � 1 � 2 (b) � 2 � 3

(c) � 1 � 3 (c) � 1

(d) 1, 2 �  3
(d) 1, 2 �  3
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87. Consider the following statements :

1. 

2. 

3. 

4. 

CO2 should be used to control 'B' type 

fire 

Special dry chemicals can be used to 
control 'B' type fire 

Foam extinguishers are less effective to 
control 'B' type fire 

Steam of water should be used with 
caution as it may spread the 'B' type fire 

Which of the statements given above are not 
correct ? 

(a) 2 and 3 only 

(b) 1 and 2 only 

(c) 3 and 4 only 

(d) None of the above 

88. What are the likely places of putting
anti-vehicle mines ?

1. 

2. 

In rocky areas

On tracks running along a river

3. On roads, where water has accumulated

Select the correct answer using the code given 

below : 

(a) 2 and 3 only 

(b) 1 and 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3

89. The composition, grouping and strength of 
escorts is determined on the basis of :

1. 

2. 

Nature and size of . the convoy to be
escorted

Nature of route and terrain to be passed 
through 

Select the correct answer using the code given 
below : 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

90. Prior information on which of the following
issues is/are essential for foot patrolling ?

1. 

2. 

3. 

Topography of the area 

Population density of the area 

Location of the terrorist camps 

Select the correct answer using the code given 
below : 

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 only

(d) 1, 2 and 3
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91. � I qi) � II � � � � � 94.
� � � � � � qiJ "W-ll1T � � �
� :

'f[if/ II 

(� J#d)fi)r:J; 'ff(m 
ffl (�) 
� 1983 cf;"
31F'" � �)

A. wan 1lTt 1. �

B. wan � 2. cfii-R.Gt(:"i 

� � � (qiffcfi(UI, � � �) 
f.14,uqdl, 1965 � 3NH, f.1AfM€ia ij -e � 
31$T � � � � � � � t ?  

<a> � 11 � � � M � sq
� � q@l � 31$T

(b) � '1U M TTm � 31$T

(c) � 14 � 3NH � � $R �
� '1U fi � 11m � 31$T

(d) � � qiJ � � � ,ji�ll�f.lcfi 
cfiF4C41� � � � � � � �
� qif �, � � � "Q � �c. � wan 1lTt 3. � cfii-R.Gt(:"i 

o. � wan 1lTt 4. � �

� =

95. � (fences) � 1fR sq f.lAR1f€ia -ij -«
�-m/�--« � � t/1 ?

A B C D 

(a) 2 4 3 1 

(b) 2 3 4 1 

(c) 1 3 4 2 

(d) 1 4 3 2 

92. M ,«ff � �  CISF � q)J, "i@ � M
� '1U � � � � M �, �
� � � m:ft1rr � � � qi) � �
� ?
(a) frl<'}ijitl

(b) � frt<'}ijitl 

(c) � frt<'}ij itl

(d) � �

93. 51ffif.19:Rt, � $J;r, � � 51ffif.19:Rt, lR t,
� �a1frlcf> wan "i@ � � �
�alfrtcti � "iR1 � � � '1U �
� I 51ffif.19:Rt, cfit � � $r-f, f.lAR:if€ia ij
-« �-m/�--« � � -:rt!  �/itrr ?

(a) � 58, � 59 � � 61
(b) � 59, � 61 � �  71
(c) � 58, � 59 � �  71
(d) � � 59

96. 
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1. � wan �•�t
2. � �Pcti41 (fence posts) qi) cf>Jl-"Q-"cfill 

3o � � � lR � M � �
3. wan � � � � � -ij � sq

�-'ittfi ifc (anti-climb paints) qiJ
"W-ll1T M � �

� � � � qiJ "W-ll1T � � � � : 

(a) � 1 � 3

(b) � 2 � 3

(c) � 1

(d) 1, 2 � 3

� � � f.lAR:if€ia sq -« �-m /�--« 
� 51 R1frtcfi � /1 ? 

1. CCTV
2. �-�

3. � �
� � � � qif "W-ll1T � � � � :

(a) � 1 � 2

(b) � 2 � 3

(c) 1, 2 � 3

(d) � 1
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91. Match List I with List II and select the correct 94. Under the CCS (CCA) Rules, 1965, an appeal
answer using the code given below the Lists :

A 

B. 

C.

D

List I List II 
(Old designatwn) (Revised

Security Guard 1. 

Security Officer 2. 

Head Security 3. 

Guard
Senior Security 4. 

Guard

designatwn
As per CISF 
(Amendment) Act,
1983) 
Naik
Constable
Head Constable

Assistant
Commandant

can be filed against which one of the following
orders?
(a) An order enhancing any penalty

imposed under Rule 11
(b) Any order made by the President
(c) Any order passed by an inqwnng

authority in the course of an inquiry
under Rule 14

(d) Any order of an interlocut.ory nature or
of the nature of a step-in-aid of the final
disposal of a disciplinary proceeding,
other than an order of suspension

Code : 

A B
4
3
3
4

C
3
4
4
3

D
1 

1 

2
2

95. Which of the following statements about
fences is/are correct ?

(a) 2

(b) 2

(c) 1

(d) 1

92. The confinement of any enrolled member of
the CISF within the precinct of any barrack,
lines or camp for the time being occupied by
any detachment of the force is called
(a) Arrest
(b) Open Arrest
(c) Close Arrest
(d) Wrongful Confinement 96.

93. During the deputation, the officer on
deputation shall be governed by the provisions
of the CISF Act and CISF Rules. Which of the
following rule(s) shall not apply during the
period of deputation ?
(a) Rule 58, Rule 59 and Rule 61
(b) Rule 59, Rule 61 and Rule 71
(c) Rule 58, Rule 59 and Rule 71
(d) Rule 59 only

KSDG-A-GIP ( 29 - A )

1. 

2. 

Fences are the first line of protection
Fence posts should be placed at least
30 feet apart

3. Anti-climb paints should be used in
fences as an additional measure of
security

Select the correct answer using the code given
below :
(a) 1 and 3 only
(b) 2 and 3 only
(c) 1 only
(d) 1, 2 and 3

Which of the following is/are most relevant for
surveillance ?
1. CCTV
2. Key control
3. Access control
Select the correct answer using the code given
below :
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1, 2 and 3
(d) 1 only

l 
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97. f.li:.tRtf<sta 11 � � � � $R � � 100. � m ffl, ffl, � � � �
� (LTC) cfiT � ':fff � � tfcfid1 � ? dtlq(lfilcfi � WT � � cht.f-m � fclf.l�ISl

(b) � �

98. � (Dog) � �diet.ft � � 't@l WTA �
eq,�a, � � f.li..iRtf&a 11 � cht.f-� cfiT(cfi

fcl:tcte.fl4 � ?

2. 1ltl � � (concentration of scent) 

3. ct-tf<tRt �

4. � � � (fitness) � �

� �  1ll!; � cfil � � � "3ffi: � :

(a) � 1, 2 �  4

(b) � 2, 3 � 4

(c) � 1 � 3

(d) 1, 2, 3 � 4

99. � firPc@ � � 'cf;' � � firPc@ �
� 'cf;' � �  f.lgRfi4j � � � � ?

(a) �, mrm� awwr

(b) \frof cfiT �

(c) \frof cfiT �

(d) � ll � �  fclf.l�ISl �

� ?
(a) � 11 � � � � cfiRlctre cnr, �

� � cl-ci ocn � �
(b) � 11 � � ,:iffit � cfiRrctre cfiT, �

� "Clfq qei <'(cn � �
(c) � 11 � � � � cfiRrctre cfiT, �

� llIB cl-ci ocn � �
(d) � cfiRrctre � � � 11 � � �

� cfir�.1c11e «, � � � cl-ci ocn �
� � �- � � \ft �  W'lT

101. 'A' � � � � m-� � � 1ll!;
,ffer-m q;) � � t  � � � ill '!� �
,fu} ft§qy � t, � cfiT(1Jf � ffl � �
q;) � � � � � � � � �
� TP-n � I 'A f.li:.tR!f<sta 11 � � � �
3NH � cfiT '$fl � ?
(a) � � � � mu 432
(b) � � � � mu 433
(c) � � � � mu 434

(d) � � � � mu 435

102. 'N � 'Z' cfiT ffl t 'Z' � dtj<l�Rf 11 'Z' �
�cfilW-1 1l sif'@T � � 'Z' � � �
� fir-rr � � � � � � � cfltffi
� � � � a sif'@T � I 'A' cfiT � � �
fcf; •z· � � "3"Cl41Tl ll � � � �  ·z· �
� � "Srffi � I 'N f.li:.tR!f<sta 11 � �
� cfiT '$fl m 1
(a) � WT

(b} � 

(c) -aqfu cfiT efcff.!<1111
(d) � � �
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9'7. LTC cannot be availed during : 

(a) Child care leave

(b) Earned leave

(c) Casual leave

(d) Half pay leave

98. Which of the following factors are responsible

for the success of warning and detection by a

dog ?

1. Ability of the Handler to read his dog

2. Concentration of scent

3. Density of vegetation

4. Condition of fitness of the dog

Select the correct answer using the code given 

below : 

(a) 1, 2 and 4 only

(b) 2, 3 and 4 only

(c) 1 and 3 only

(d) 1, 2, 3 and 4

99. All appointments to Central Civil . Services

Group 'A' and Central Civil Posts Group 'N 

shall be made by ;

(a) Chairman, UPSC

(b) The Prime Minister of India

(c) The President of India

(d) Authorities specified in this behalf in

the Schedule

100. What is the punishment prescribed for 

criminal breach of trust by a public servant,

banker, merchant or agent ?

(a) Imprisonment of either description for a

term up to three years

(b) Imprisonment of either description for a

term up to five years

(c) Imprisonment of either description for a

term up to seven years

(d) Imprisonment for life or imprisonment

of either description for a term which

may extend up to ten years, and shall

also be liable to fine

101. 'N removes a landmark fixed by a public

authority on a busy intersection, and hides

that behind a large tree, due to which it is no

longer visible to the public for whom it was

put on display. 'A' is guilty of an offence under

which one among the following provisions ?

(a) Section 432 IPC

(b) Section 433 IPC

(c) Section 434 IPC

(d) Section 435 IPC

102. 'N being on friendly terms with 'Z' goes into

'Z's library in 'Z's absence and takes away a

book without 'Z's express consent for the 

purpose of merely reading it and with the

intention of returning it. 'N was under the

impression that he had 'Z's implied consent to

use 'Z's book. 'N shall be held guilty of which

one of the following offences ?

(a) Breach of trust

(b) Theft

(c) Misappropriation of property

(d) No offence

KSDG-A-GIP ( 31 - A )
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10s. Pti:.tfM&a ij � �-m, 
� "f.Tlcfi .,P t ? 

� * � cf,J 100. lfR � fcfi 31Jq M fclqi,wa-t � w� · 

(a) � $

(b) #lFft cf,J �

. 
� *•�  � qgf � fcflJ'R q,J  � �  . 
� t I fcflfR-,&N@!(Oicfidf� � "iffif--;fur m
�, 31Jq �-� � � ? 

<c> M � cf;) �  1.JT � � * W.J ij
�

(d) � ffl

104. �d<\i{l4 � � �'11-Nt=Hl � � 31m
(security audit) �-m wrcr-J cfi«fT t ?

(a) BCAS
(b) ICAO

(c) ACI

(d) IATA 

105. lfR � fcfi 31TtJ M° �a')frtcfi � ij CISF

W� � * • * � ij � �  I �
�wfrlq; � * �-� * � * �
� "cfi(;fi t I 31TtJ f:ti:.tf8f&a ij � �-� 

1. � � $ � cf,J -&i:ftid-1 �,
� �  � �  �Rl<ii � � *
���,

2. M ,:ft q��fa ij fcflfR-�4@!(01cfidfait qi)
� 3cfi�I�� 

3. fcflfR--&14@!(0lcfidf� qi) 1@l � fcf; 31TtJ
�-� !

4. fcflfR_;&N@!(Olcfidf� � 3ffl9 � 3ffl9 �
filt.-11�� 

� � � � cf,J ffl "q,( � "3ffi: � : 
(a) � 1, 2 �  4

(b) � 1, 3 �  4

(c) 1, 2, 3 � 4

(d) � 2 � 3

� � ? 107. f:ti:.tf8f&a ij � �-� "mit �/1'IIR{l4f
t/1 1

1. -&t.fl4i:llftcfi fflffi $ � � -&i4t?(Ulcfidfoi'f 
� � � cf,J � �

2. �-� qi) • q�-ql� fcfi � M
,:ft �  ij � ;r �

3. <fl< Gf.R cf,J � ;r 'cf,{, 3lfqg
-&i4i?(Ulcfidf� qi) "iffif-,fur ij � '(ti

4. � � lfRcfi( � fcfi 31TtJ -&i4@!(Ulcfidi�
q;) wmT m i � "3;J � � � "q,(
m i

� � � � cf,J m "qi( �  "3ffi: � 
(a) � 1, 2 �  4
(b) � 1, 2 �  3

(c) � 3 � 4
(d) 1, 2, 3 � 4

KSOG-A-GIP ( 32 - A )

1. -m-� �
2. � � * mw � � � SIRli_d 

����qtf� � �*
� -m $ � lfR ij M' f;n:;@-{ �
(lower stage) ij � � � arcr-mf

3. � �

4. �q�dl 1.lT ijqlf:t� � � $
� � ijqlf:t1�

� � � � cf,J ffl "q,( � "3ffi: � : 
(a) � 1

(b) � 1 � 3

(c) � 2 � 4
(d) � ij � q;)t �
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103. Which one of the following is not an essential 106. Suppose you are the head of the security unit
ingredient of the offence of theft ? of an airport and an aeroplane has been
(a) Taking 

(b) Dishonest intention 

(c) Putting a person in fear of death or
grievous hurt

(d) Moveable property

104. Which organization carries out Security Audit
of Airports internationally ?

(a) BCAS

(b) ICAO

(c) ACI

(d) IATA 

105. Suppose you are working as the head of the
CISF security unit of an industrial unit. You
are supposed to act against the kidnapping of
the Managing Director of the industrial unit.
Which of the following will be done by you ?

hijacked there. While dealing with the
hijackers, what precautions will be taken by
you ?
1. Follow the instructions of the flight

crew, as they are trained to deal with
such contingencies

2. 

3. 

4. 

Do not provoke the hijackers in any
circumstances

Convey to the hijackers that you are a
Sky Marshal

Do not make eye contact with the
hijackers

Select the correct answer using the code given 
below: 
(a) 1, 2 and 4 only

(b) 1, 3 and 4 only

(c) 1, 2, 3 and 4

(d) 2 and 3 only

1. Try to make contact with the kidnappers _107. Which of the following is/are minor penalties ?
through informal sources 1. Withholding of increment of pay

2. Convey message to the Managing 
Director that he should not resist at any 
cost 

3. Do not try to be heroic, rather engage
the kidnappers in negotiations

4. Always assume that you can reason out
with kidnappers and win them over

Select the correct answer using the code given 
below: 

(a) 1, 2 and 4 only

(b) 1, 2 and 3 only

(c) 3 and 4 only

(d) 1, 2, 3 and 4

KSDG-A-GIP (33 - A) 

2. 

3. 

4. 

Reduction to a lower stage in the time 
scale of pay by one stage, for a period 
not exceeding 3 years with cumulative 
effect and adversely affecting pension 
Withholding of promotion 
Compulsory retirement in accordance 
with the provisions relating to 
superannuation or retirement 

Select the correct answer using the code given 
below: 
(a) 1 only
(b) 1 and 3 only
(c) 2 and 4 only
(d) None of the above
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10s. � �a1frti:fi w� G@ � � m -ij 110. u$ lTT;rc{ � 3IBl1ll � �� � � 
f.li..i@f&a -ij -a  �-m/�--a � � t/� ? � � � � � � � mq,1R�n � 
1. � i:fii<R◄ct 31CR � t 3TI'qR lR � � t I f.li..t@f&a -ij -a � �

� � �� cn«IT t ?
2. �-f.ltt� �� � t

3. � �wfr1i:fi w� G@ � -ij �
� q;) � � � TTm t

4. !i�tf.l�ti:fi � � � �alfrli:fi W�
G@ � � mu 4 � 3NR � � t

(a) � cf;f �
(b) � 1TTll"ffi cf;f ,rn: � �
(c) ffl � -ij m� cf)f �

(d) fcntJ � � cf;f ,rn: � �

111. lTT;rc{ � m&lUT �, 1993 -ij
� � TN: �  cf;f � � � � � : f.li..i@f&a -ij -a fcn-J � � 1T&f � �
(a) � 2 � 3 � � 11m t ?

(b) � 1 � 4 1. u$ lTT;rcf � 3IBl1ll

(c) � 3 � 4 2· � lTT;rcf � 3IBl1lT 

3. lTT;rc{ � � 
(d) � 1

4. lTT;rcf �{ -41-!llct-!I

� � lN: � cf;f � � � � � :
(a) 1, 2, 3 � 4
(b) � 2 �3 

1. � �aifrti:fi W� G@ cf;f li�tf.l��li:fi
� � tcf; (fcf; � tcf; R;R �

(c) � 1, 3 �  4
(d) � 1, 2 � 4

� t 112. � � � -ij, cf,JlJ � � � � -ij
2. � �a1frti:fi w� G@ cf)f q�1f.1�1i:fi f.li..i@f&a -ij -a �-m/�--a � mft@

� tcfi R;R � � fi 51f-!11�1Pfa cflBT/cf>B � ?
� � � 1. � � � � � � � cflBT

3. �, � � tcf; � 11m t, � 2. l'&-$fcf,.qj � (i111 � � � � qi)

(a) 

(b) 

(c) 

(d) 

� 3lRfftm � � m) � � � �) 

� m7TT 3. cm,cn q;) � cflBT

1, 2 � 3 

� 2 � 3 

� 3  

� 2

4. � � � � � f.li:fitct-11

� � lN: � cf;f � � � � � =
(a) � 1 � 3
(b) � 3

(c) � 3 � 4
(d) 1, 2 �  4

KSDG-A-GIP ( 34 -A) 
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108. Which of the following statements with regard 110.
to CISF Act is,'are correct ?

1. Head Constable is an under officer

2. Sub-inspector is a supervisory officer

3. Joint venture is not defined in CISF Act 

4. Director General is appointed under
Section 4 of the CISF Act

Select the correct answer using the code given 
below : 

The Chairperson of National Human Rights 
Commission is appointed by the President of 
India on the basis of recommendations of a 
Committee. Who among the following heads 
the Committee ? 
(a) The Prime Minister oflndia
(b) The Minister in charge of Home Affairs
(c) The Leader of the Opposition in Lok 

Sabha
(d) The Minister in charge of Law and

Justice

(a) 2 and 3 only

(b) 1 and 4 only

(c) 3 and 4 only

(d) 1 only 

111. The Protection of Human Rights Act, 1993
provides for the constitution of which of the
following bodies ?

109. Which of the following statements is,'are
correct ?

1. The Director General of the CISF can
confer local rank up to the rank of 
Commandant only

2. The Director General of the CISF cannot 112.
delegate the power of conferring local
ranks

3. The officer who has been granted a local
rank shall not be entitled to any extra
pay and allowances

Select the correct answer using the code given 
below : 

(a) 1, 2 and 3

(b) 2 and 3 only

(c) 3 only
(d) 2 only

KSDG-A-GIP ( 35 - A )

1. National Human Rights Commission
2. State Human Rights Commission
3. Human Rights Tribunal
4. Human Rights Court
Select the correct answer using the code given 
below : 
(a) 1, 2, 3 and 4
(b) 2 and 3 only
(c) 1, 3 and 4 only
(d) 1, 2 and 4 only

In the basic emergency plan, which of the 
following steps must be included in a 
shutdown procedure ? 
1. Shutting off power to machines and fans
2. Opening windows ( except in case of

bomb threats)
3. Closing valves
4. Unplugging vent.s and pipes
Select the correct answer using the code given 
below : 
(a) 1 and 3 only
(b) 3 only
(c) 3 and 4 only
(d) 1, 2 and 4

Previous Pathshala



113. �� � -ij <fi;J 'D' f.iqfftf&d if 'Q �-'Q 116. f.iqfftf&d "if 'Q � 3Titm: � lit?lf.:1�1«6 �
� ? q;q�ltH fu:q; "5iGR ;r/f � � ?
1. �3IB (Denial)
2. �l�l.f (Detection) (a) Sllffac6 �311 -i1 S1iti�.ft4 ffl

3. � (Deterrence)
4. ��c:fltH (Destruction) (b) � � <fc6 �&tl!Jffi � � 31tt �

� � � � q;J � � � "3ffi: � : �

(a) 1, 2 31tt 4
� � <fq, � 'Qql � � 31tt �

2, 3 31tt 4
(c) 

(b) 

(c) 1, 2 31tt 3 �

(d) 1, 3 31tt 4
(d) �d(f�4 fffi: � W-� -ij � 3q�fitf 

114. � � <frs@T (Magnitude) cf>l � � 1Wffl f.i fftf& � � -A- /-A-.. � ..-r:A �/4 
1 ?

117. q d '1 � ct>l-t-ffl ct>l-t-� � �'?I ".I {! ?

(a) l°lcrc:.itl� 

(b) fufc:.< �

(c) \_cji4d€fl �

(d) \_ i:64 q I cft

11s. 3lJJt � -a � � � � �sifR cna 
�f.i�l.f (ffill) � 31tt � � � I 
�f.i�itl.f "it �  w-rr/� � :

1. �� � � � fiRT 'ltW-fl q;r fc@"{Or
2. �➔ q;qisif � � 31tt �

� � � � q;J � � � "3ffi: � :
(a) � 1
(b) � 2
<c> 1 31tt  2 -$n
(d) -;J ell 1, -;J � 2

KSDG-A-GIP ( 36 - A )

1. M 3fttl,fi)q; � � c6¥Mlfl41 cf>l �

� � � � !, � � 1NR �

q;J w � -q � m i

2. � � � �(l-it4f?ld mc61tt

c6¥Mlfl<if cfit � fcflq;14 �

(a) � 1

(b) � 2

<c> 1 31tt 2 -$n
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1 13. Which of the following are the three 'D's in the 1 16. Commendation Discs cannot be awarded by
Principles of Security ?

1 .  Denial

2. Detection

3. Deterrence

4. Destruction

Select the correct answer using the code given 

below : 

(a) 1, 2 and 4

(b) 2, 3 and 4

(c) 1, 2 and 3

(d) 1, 3 and 4

1 14. The magnitude of an earthquake is measured

by :

(a) Tiltmeter

(b) Richter scale

(c) Seismograph

(d) Seismometer

115. Briefing by the convoy commander before

moving off must be detailed and explicit. The

briefing should include :

1 .  

2. 

Distribution of weapons irrespective of

training

Appointment and duties of vehicle 

commanders 

Select the correct answer using the code given 

below : 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

{d) Neither 1 nor 2

Director General on which one of the following

grounds ?

(a) Commendable work during natural

calamities

(b) Accident-free driving and good record for

ten years

(c) Clean and good record of service for 

fifteen years

(d) Outstanding achievement in sports at

international level

117. Which of the following statements is/are

correct ?

1 .  Employees of an industrial undertaking 

can be granted monetary reward if they 

help to detect serious crime 

2. Monetary reward is admissible to 

non-gazetted Government servants only 

Select the correct answer using the code given 

below : 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

KSDG-A-GIP ( 37 - A )
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11s. R'41fM{sla if �  ct>t.f-m/ct>t.f-� � � t;� ? 121. X-Bis -ij, TIP � � � �  ? 

1. � �wfrl<:fi wan � � ��
��<:fil-0 � fufc@ mmt (cl'ffc;f>{ul,
� 'Q.ci �) R41ilcl�, 1965 �
� � �

2. � ��frlq-i wan � � ,rar � "IN:
� � � � � � � �
� � �� � �

� � "IN: � cfil � � � � � = 

(a) � 1

(b) � 2

(c) 1 � 2 $:rr

(d) ';{ 'ffl 1, ';{ °tt 2

(a) l9cfU � � (Threat Identification
Procedure)

(b) � � � cfil 'SI'� (Threat Image 
Projection)

(c) � � � � "IN: � (Tested
and Identified Packet) 

(d) lltt� � � (Test Identification
Parade)

122. � wan � � -ij, � � � � �
� -ij 3lRft t ?
(a) fi4Mlcf>
(b) � (Incendiary)
(c) <sld(-11<:fi �
(d) �

12s. f.lJ..i�furn -ij � ct>t.f-m /ct>t.f-� � t /� ? 
119. �j'(ifild � � 3tj'(ifild ;jH-itl@ (� 1. AK-47 � -ij, � 7·62 mm �-ll@T

f.rcrnur) �, 1989 � �, � "IN: (ammunition) cfil '3'tJ4TlP.fi� �
� cfil � RJ..i�f&a -ij � ct>t.J � �
t ?

2. INSAS � -ij, 5·56 mm �-� 
(ammunition) cfil "3m � si1'RIT t

(a) � � �, � SP � tcn � �
cfil 11 W

(b) � �  �, � DSP � tcn � �
cfil 11 W

(c) � � �, � SHO � tcn � �
cfil 11 W

(d) � � �, � f.ttt� (�fqifl<)
� tcn � � cfil 11 W

3. INSAS �, AK-47 � � ffl'it �
t

4. AK-47 �, INSAS � � � � t

� � 1N; � cfil � � � "3tR � :

(a) � 1

(b) � 1 � 2
(c) � 3

(d) � 2 � 4

124. CCTV � � �  -ij, RJ..i�f&a -ij � �-m 
120. -&t:t�Rla � � �Kfila -it-1-it,Rt (� � � -:,p t ?

f.rcrnur) �, 1989 -ij 2018 � � � (a) � cf>1" qst; � -ij � � �
�-m � � � lp;rr t ? (b) � cfil � � � 31R ';f<f � �
(a) � 14q; <flfcf; � "5[q;m � Wcf<R � � -ill �

(b) � 15

(c) � 15cf>

(d) � 18cf>
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(c) � � W 'ffl � � �tfl4-1 (stacking)
� GRl

(d) � cf>1" W � � � � acte,,a
� � � � � -ij � � �
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118. Which of the following statements is/are 121.
correct ?

1. 

2. 

Supervisory officers of the CISF are 
governed by CC$ (CCA) Rules, 1965 

In X-BIS, what is meant by TIP ? 
(a) Threat Identification Procedure
(b) Threat Image Projection
(c) 

(d) 

Tested and Identified Packet 
Test Identification Parade Leave rules of the Central Government 

are not fully applicable to the enrolled 
members of the CISF 

122. In the context of Aviation Security, a

Select the correct answer using the code given 
below : 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

119. Who among the following can investigate an
offence, committed under the Scheduled
Castes and Scheduled Tribes (Prevention of
Atrocities) Act, 1989 ?

(a) A police officer not below the rank of SP

(b) A police officer not below the rank of
DSP

(c) A police officer not below the rank of
SHO

(d) A police officer not below the rank of
Inspector

120. Which new provision has been added to the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 vide it.a
2018 amendment ?

(a) Section 14A

(b) Section 15

(c) Section 15A

(d) Section 18A

matchbox comes under the category of :
(a) Explosive
(b) Incendiary
(c) Dangerous substance
(d) Weapon

123. Which of the following statements is/are
correct ?

124. 

1. In AK-47 Rifle, we use 7·62 mm 
ammunition

2. INSAS Rifles use ammunition of
5·56 mm

3. INSAS Rifle is shorter than AK-4 7 Rifle
4. AK-4 7 Rifle is heavier than IN SAS Rifle
Select the correct answer using the code given 
below : 
(a) 1 only
(b) 1 and 2 only
(c) 3 only
(d) 2 and 4 only

With regard to CCTV monitor, which one of 
the following statements is not correct ? 
(a) Monitor should be placed in a curved

configuration
(b) The monitor screen should be tilted

upward to avoid reflection of overhead
lighting

(c) If possible, stacking of monitors should
be avoided

(d) Screens should be placed in a sequence,
providing logical continuity with
relation to location of cameras

KSDG-A-GIP ( 39 -A ) 
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125. VIP W� -q, ma wro;fi (counter surveillance) 128. 'R-'fflt.H f.rcrnur �, 2002 * 3ltfR �
� 'it?-tq'i_Ui � t I ma f.i1m-it * � � 1;JT � � � � * 3ltfR 
f.lA�futa q "Q cf>t.1-m/�-"Q � t/� ? � q;r ffl � �' cmurr qi) �&◄-G �

1. "{lfflR � q;r � �, 31tt � 1Tfa- $ft far-rr, "riTT � * � � � t ffl cffl �

� � � "Q � � ? 

2. M � -q � 31tt ,jicfif'i Id � �

3. � � frRr � fi � � � � fcf;
� � � � t

� � lN: � q;J ffl � � � � : 

(a) � 1

(b) 1, 2 31tt 3

(c) � 2 31tt  3

(d) � 1 31tt  3

126. M � � � "4a � cf>t.1-� t �
$�q{Tf.icfi � (Digital Signature) � �
* � � � � (Private key) 31tt
$�ct�rr.lcfi � qi) et=<l1ftta cfi8 * � �
� � (Public key) � t ?

(a) �m'if'ia � �

(b) � �

(c) � 1"l<9 �
(d) $��rr.lcfi � >llfTUT-� 

127. cfli 2015 -q, 'qRa * � .-ll141(14 4 � � 
�mfrtchl �, 2000 "4a tTRT 66cfi qi) � 
� � 31tt 'qRij * � * � 
19(1)(cfi) * 3il'asfi'iOI * cf;f(UT � � � I

(a) 3 cfli <'fcfi * cfil<lcue "Q � '" 50,000
<'fcfi * � "Q � $fl "Q

(b) 2 cfli <'fcfi * cfil<tcue "Q � '" 50,000
<'fcfi * � "Q � $11 "Q

(c) 1 cfli <'fcfi * cfil(lqle "Q � '" 50,000
<'fcfi * � "Q � $fl "Q

(d) 6 � <'fcfi * cfil<lqie "Q � '" 10,000
<'fcfi * � "Q � $fl "Q

129. � f.rcrnur �, 1988 * 3ltfR �
.-ll141tft�rf � �-.:11<uft4 lJ1ll'ffl -q, et'il.-lld:
� e'i4tq� � t � $R Rl-.:11<01 �
� � � � ?
(a) � f'l<.1lcfi( 2 cfli
(b) � f'l<.1tcfi( 3 cfli
(c) � f&i<.1tcfi( 4 cfli
(d) � f&i<.1tcfi( 5 cfli

130. � � �' 1860 * f.lA�futa � *
� -q "Q �-m �' fcl�J.11-1 � f.rcrnur
� q;r 3lT'W t ?
(a) tTRT 58 "Q tTRT 62
(b) tTRT 161 "Q tTRT 165cn
(c) tTRT 216l9 "Q tTRT 226
(d) tTRT 478, 480, 490 31tt 492

� lJP@ -q � .-lll41<.14 � � 11:Rtt!t�cfi 131. TNT * ffi -q f.lA�futa -q "Q �-m �
f.rap;r � � ? � -:,ff t ?

(a) � � qqf iR1lf t!R4IOII �

(b) � iR1lf �

(c) � � iR1lf 'qRa Wei
(d) � "cfi¢ iR1lf af'l<.1-II§ �
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(a) TNT q;r  � �1$-ll��)d�.:i �
(b) � � lfuf (creamy yellow) '{1J q;r � !
(c) � � � cfitaff.lcfi -ll�i).;,i.:i � t
(d) � cfili � q;r fclf4ilccfi qzy.i "i"RT �

t

• I
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. 125. In VIP security, counter surveillance is very 128. Under the Prevention of Money-Laundering 
important. Which of the following is/are Act, 2002, any authority or officer, who 
essential for counter surveillance ? without reasons recorded in writing, conducts 

1. Try speeding up, and then slow down

2. Walk into a building and stop abruptly 

3. Drop something to see if someone picks
it up

Select the correct answer using the code given , 
below : 

(a) 1 only

(b) 1, 2 and 3 

(c) 2 and 3 only

(d) 1 and 3 only

126. What is a system of a secure key pair
consisting of a private key for creating a
digital signature and a public key to verify the 
digital signature, known as :

(a) Asymmetric crypto system

(b) Secure system 

(c) Symmetric crypto system

(d) Digital signature certificate

127. In 2015, the Supreme Court of India struck
down Section 66A of the Information and
Technology Act, 2000 as being
unconstitutional and violative of Article 
19(1)(a) of the Constitution of India. In which 

129. 

vexatious search by exercising powers under 
the Act is liable for punishment of : 

(a) Imprisonment up to 3 years or fine up to
� 50,000 or both

(b) Imprisonment up to 2 years or fine up to
� 50,000 or both

(c) Imprisonment up to 1 year or fine up to
� 50,000 or both

(d) Imprisonment up to 6 months or fine up 
to � 10,000 or both 

In cases triable by special judges under the 
Prevention of Corruption Act, 1988, what is 
ordinarily the prescribed time period during 
which the trial should be concluded ? 

(a) 2 years in aggregate

(b) 3 years in aggregate

(c) 4 years in aggregate

(d) 5 years in aggregate

130. Which of the following groups of provisions of
the Indian Penal Code, 1860 form the basis for
the present Prevention of Corruption Act ?

(a) Section 58 to Section 62

(b) Section 161 to Section 165A

(c) Section 216B to Section 226

(d) Section 4 78, 480, 490 and 492

case did the Supreme Court 
landmarkjudgment ? 

deliver this 131. Which one of the following statements with 
regard to TNT is not correct ? 

(a) Shamsher Singh Verma v. State of
Haryana

(b) Shankar v. State 

(c) Shreya Singha! v. Union oflndia

(d) Suhas Katti v. State of Tamil Nadu

KSDG-A-GIP ( 41 - A ) 

(a) TNT stands for trinitrotoluene

(b) It is of creamy yellow colour

(c) It is a solid organic nitrogen compound

(d) It is considered to be a low intensity
explosive substance
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1s2. � � ffl 11 f.l&.1�f&a 11 -a �--a � � 134. � � VIP M � 11 � t m 3TJtrcli1"
� ? � � � fcf; : 
1. � M �Mlcfi � q;) � �

� � �,q�4cfi � � � �

2. � � "5JcfiR � � � - cf>@-� 
(time delay), � � (physical
action), � q4fq{UI (environment) 

3. (lffl4Rcfi �, cf>@-� � � �

� �

� � lN; � "cfil � � � � � : 

(a) 1, 2 �  3

(b) � 1 �  2

(c) � 2 � 3

(d) � 1 � 3

3. 41dl41d � � � � 3lc(Utl �
� cfilfifcfll � � cfit �

4. � �-�<i4f\!II �f\!llfqa � �, \il1'
'ff,fl Rcfilaii cn,fifcfll � � l3lcxf m

� � lN; � "cfil � � � � � : 

(a) � 1

(b) � 2 � 4

(c) 1, 2 � 3

(d) � 1 � 3
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2. 3ffi q@ (�-1cfiffi•1) - � @1-1afl-1 cfit
-iffifi t I

3. 31TRl5cfil � 'q'ffi '{�<i4H mllR � � �

�� ,

(a) � 1 � 3

(c) � 2

(d) � 1 � 2

(a) fcr-f@ � � � 'iR1lJ \TI«f � �

�

(b) 'cfillR � (� <��,a e1e1�il) 'iR1lf

\TI«f m:l"

(d) � � 'iR1lf �
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132. Which of the following statements with regard 134. If a VIP is staying in a hotel, you should check
to fuses are correct ? that : 
1. Fuses are simple switches required to

activate an explosive device

2. The three main types of fuses are time
delay, physical action, and environment

3. Good example of time delay fuses are 
chemical pencils

Select the correct answer using the code given 
below : 

(a) 1, 2 and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

133. 'Road Block' is done in terrorist affected areas.
Which of the following principles should be
followed in it ?

1. It should make it difficult for the
terrorists to turn back

2. Adequate troops should be kept in the
open

3. Manning of road block should be done as
per traffic movement

4. Proper communication be set up, audible
to all nearby personnel

Select the correct answer using the code given 
below : 

(a) 1 only

(b) 2 and 4 only

(c) 1, 2 and 3

(d) 1 and 3 only

1. emergency exits are available.

2. 

3. 

incoming calls are screened.

valuables are deposited with the
bodyguards.

Which of the statements given above is/are 
correct ? 

(a) 1 and 3 only

(b) 2 and 3 only

(c) 2 only

(d) 1 and 2 only

135. In which one of the following cases did the
Supreme Court give directions that statutory
status should be conferred upon the Central
Vigilance Commission ?

(a) Vineet Narain & Others v. Union of
India & Another

(b) Common Cause (A Regd. Society) v.
Union of India

(c) Centre for PIL v. Union of India &
Others

(d) Pravin Kumar v. The State

KSDG-A-GIP ( 43 - A ) 
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136. cfiif-iill<l � f.ritJ � muf � �, 140. f.16<41(!.-1 � ;jJR q"@ mJlPJ ch1 q'lll � � ?
1952 * 3ltfR q;)f cfiif-iill� \jff � � cfiT (a) � (mm:f)
� t, � � � "51m � �3TI cfGf (b) �
� �, � � cfi4-i41<l f.lqR-!fuid -ij "« (c) � (cm)
� � "51m � WIT ? (d) � (�)
(a) 55 q'lf

(b) 5g q'lf

(c) so qtf

(d) 62 qtf

137. cfiif'ii11<l � f.ritJ � muf � af�f.l(lq,
1952 * 3ltfR, � � 1fa fcm:m * �

141. f.%qR-!frsa -ij "Q �-"ffl, 'if§.-3q41ffil � 'ffiJ
(multi-user operating system) :,ff t ?

(a) UNIX
(b) Windows XP
(c) MS-DOS
(d) Windows 2000

�-ffl-� � f.tftf � '4a � 1 � 142. f.%qR-!fuia -ij -a �-m, � � cfiT �
f.ritf '4a ooq;rr * cfiRUT f.lqR-lfuia -ij -a �-� � t ?
� � � � ? (a) �� m (Coaxial cables)

(a) q;if'iil1<l � � (b) cxUctf<td-� m (Twisted-pair cables)

(b) �,<l f.tl5tr � cftqy � (c) 3rcffifi � (Infrared rays)

(c) � � �
(d) Slcfil�lcfi � (Optical fibers)

Cd) � -ij -a q;)f � 143. f.lqR-!fuia -ij -a � S11ilctiTc.1 cfiT � M
IP 'tJa (address) * W@ MAC 'tJa (address) *
f.rffl * � � � t ?138. cfiiji:f ,<l � f.ritf � * 3@1ffl q;)f

��cfi(OI, M ift �, ftm -ij q��d M
ift � * A<lc:MOI � �' � � .  M
ift � ch1 � � * \fuR l-i:tn�a "qi"{
� t ?

(a) 3ltR � '4a <f100' "Q <fR qt{

(b) 3ltR � 1fa <fTfus "Q � qt{

(c) 3ltR � '4a <f100' "Q "e.) qt{

(d) 3ltR � 1fa <fTfus "Q � qt{

139. f.%qR-!fuia -ij -a �, �alfrtcfi � ��f.l(lq, 
1947 * 3ltfR �/Tffao � �  :,ff l ?

(a) � af�cfil<l 

(b) � �
(c) d��I( 

(d) q;if �

(a) ARP
(b) IP
(c) ICMP

(d) Fl'P

144. � � 3l¥i * f.%qR-!frsa -ij -a �-m � �
� :rif t ?
(a) dl<.11◄� : M � � cfiT �

�-«����
Cb> q;1qai� : q;rq � -ij M f.141-iiffi '4a 

J.lti<li<.1dl, �t1qvfa1, � 
(c) � : � � * -1cftcfi(UI '-1' �

;jJR * qQ011qtc1�q � 1fa "QcfT 1fa
�

Cd) � : M � cfil � 1:l'T � M
� cfil � � "Q � � �  

KSDG-A-GIP ( 44 - A )
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. 136. Under the Employees' Provident Funds and 

Miscellaneous Provisions Act, 1952, an 

employee who is the member of Pension 

Scheme is said to reach the age of 

superannuation when such employee attains 

the age of : 

(a) 55 years

(b) 58 years

(c) 60 years

(d) 62 years

137. After framing of the Pension Scheme under

the Employees' Provident Funds and 

Miscellaneous Provisions Act, 1952, a pension 

fund shall be established as soon as possible. 

The establishment of the Pension Fund shall 

lead to cessation of which of the following ? 

138. 

(a) Employees' Pension Scheme

(b) Employees' Deposit Linked Insurance

Scheme

(c) Family Pension Scheme

(d) None of the above

A Tribunal under Employees' Provident Funds 

Scheme may, at any time, with a view to 

rectifying any mistake apparent from the 

record, amend any order passed by it, within a 

period of : 

(a) three years from the date of its order

(b) five years from the date of its order

(c) two years from the date of its order 

(d) one year from the date of its order

139. Which one of the following is not an authority

appointed/constituted under the Industrial

Disputes Act, 194 7 ?

(a) Conciliation Officer

(b) Board of Conciliation

(c) Registrar

(d) Works Committee

140. Program in execution is called a :

(a) Process

(b) Product

(c) Code

(d) Page

141. Which one of the following is not a multi-user

operating system ?

(a) UNIX

(b) Windows XP

(c) MS-DOS

(d) Windows 2000

142. Which one among the fol:owing is the fastest

mode of transmission media ?

(a) Coaxial cables

(b) Twisted-pair cables

(c) Infrared rays 

(d) Optical fibers

143. Which one of the following protocols is used for

determining the MAC address corresponding

to an IP address ?

(a) ARP

(b) IP

(c) ICMP

(d) FTP 

144. Which one of the following pairs of term and

meaning is not correctly matched ?

(a) Lockout : Temporary closing of a place of

employment

(b) Lay off : Failure, inability, refusal of

employer to give employment

(c) Suspension : Termination of service of

workman as a result of non-renewal of 

contract of employment

(d) Closure : Permanent closing down of a

place of employment or part thereof

KSDG-A-GIP ( 45 - A ) 
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145. cfi&Mitl � 34�(.\4q, 1923 * � "'cfiij-qjt)» 148. � � �' 1973 � tTIU 95 * � � .
� -q • � -:,If i ? mcfi"R f.\'--1ft;tf<sid -q "Q � �3TI cnf {,fijq�{Oj 

<a> M � q;r � � cfi4f� q;r a:R
�

(b) M llW: � * ffi -ij �' �'
� * � -ij � � � �

(c) � G@ * � � � -ij � �
� 

(d) � � � ,if) M i"q;ft � � -ij
cfillf � * � � � '1J@T i

146. � � �' 1973 � tTIU 94 * 3ltfl;J, � 
qtf qRl�c! ctiiRat<.1 � � -a 3itR * M 
� 3i�cfil-0 "cfiT � � � � � W-f;oT

qi{ � -iJR � � qi{ � � �  
� q;) � � * � � qi{  
� ?  
1. � � 'hs11f¾:4 
2. Cf>llli¾:4 � � '!lt4�qu1 

3. �-� � �
4. 'q1g � �, 1889 * � -ij  �

TTQ; 'qlg-m

� � TJQ; � q,f � qi{ � � � : 
(a) m 1 � 2

(b) m 3 � 4

(c) m 1, 2 � 3

(d) m 2 � 3

i � � �  � � � �, � �  � 149. � �  � -«llrr � t  furij � � �
�, tc!{f¾d Gf<f 14,;,t, � � q;r � i I � �' 1973 � tTIU 95 * � � 1TQ; 
f.\'--1ft;tf<sia -q "Q �-� 3ijq@;;it-tcfi � � t1TU {-!ijq�{UI � � "cfiT � � * � � 
* � � -:,If � ? ...lll41<.14 -ij � qi{ WIT ? 

(a) � ftftfiT (a) 
:;� 

� � * � � <flfRi -a 

(b) � �

(c) � �

(d) � Rlcc1�a �

<a> � qRl�c! 

(b) � qtf � qR,�l

(c) � qR,�c! 

(d) � qtf � qR,�l 
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(b) � -ij  � � * � �  <flfui -a
GT lffi!

(c) � -ij � � *  � � <flfui -a
� lffi!

(d) � -ij � � * � � mfug -a

(a) � qR,�l 

(b) � q��l

(c) � �

(d) � qtf qR,�l 
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145. The term "employee" under Employees 148. Under Section 95 of the Code of Criminal
Compensation Act, 1923 does not include : 
(a) A captain or other member of the crew of 

an aircraft 
(b) A person recruited as driver, helper, 

cleaner in connection with a motor 
vehicle 

(c) Any person working in the capacity of a
member of the Armed Forces

(d) A person recruited for work abroad by a
company

146. A Magistrate of first class may, under
Section 94 of the Code of Criminal Procedure,
1973, by warrant authorize any police officer
above the rank of a Constable to search a
place suspected to contain stolen property,
forged documents, etc. Which of the following
objectionable articles are not covered under
this Section ?
(a) Counterfeit coin
(b) False seals 
(c) Obscene objects
(d) A controversial book

149. 

Procedure, 1973, the State Government may
declare forfeiture and authorize Police Officers
to seize which of the following items ? 
1. Paintings and drawings
2. Photographs or other visible

representations
3. Newspapers and books
4. Pieces of metal made in contravention of

the Metal Tokens Act, 1889
Select the correct answer using the code given 
below : 
(a) 1 and 2 only
(b) 3 and 4 only
(c) 1, 2 and 3 only
(d) 2 and 3 only

What is the prescribed time limit within which 
a person may make application to the High 
Court to set aside a declaration of forfeiture 
made under Section 95 of the Code of Criminal 
Procedure, 1973 ? 
(a) Fifteen days from the date of publication

of such declaration in the Official
Gazette

(b) Two months from the date of publication
of such declaration in the Official
Gazette

(c) Three months from the date of 
publication of such declaration in the
Official Gazette

(d) Six months from the date of publication
of such declaration in the Official 147. Who among the following is authorized to Gazette 

grant a warrant to search for a document, 
parcel or other thing in the custody of the 150. Who among the following does not have the 
postal or telegraph authority ? 
(a) Sub-divisional Magistrate
(b) Judicial Magistrate first class 
(c) District Magistrate
(d) Judicial Magistrate second class
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power to make an order under Section 98 of 
the Code of Criminal Procedure, 1973, for 
restoration of abducted females ? 
(a) District Magistrate
(b) Sub-Divisional Magistrate
(c) Superintendent of Police
(d) Magistrate First Class
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I Total Questions I 150 Maximum Marks 300 

No. of Questions 
1 

No. of Questions 
149 Dropped taken for Scoring 

Q. No, Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key 

1 B 21 B 41 B 61 A 81 C 101 C 121 B 141 C 

2 A 22 B 42 A 62 C 82 C 102 D 122 B 142 D 

3 C 23 D 43 A 63 D 83 A 103 C 123 B 143 A 

4 D 24 C 44 C 64 B 84 D 104 B 124 B 144 C 

5 B 25 B 45 A 65 A 85 D 105 B 125 8 145 C 

6 C 26 A 46 D 66 C 86 C 106 A 126 A 146 D 

7 D 27 C 47 A 67 D 87 D 107 B 127 C 147 C 

8 A 28 X 48 8 68 8 88 D 108 8 128 8 148 C 

9 D 29 D 49 B 69 C 89 C 109 B 129 C 149 B 

10 C 30 8 so D 70 B 90 D 110 A 130 B 150 C 

11 C 31 D 51 B 71 C 91 A 111 D 131 D 

12 D 32 D sz D 72 B 92 B 112 A 132 A 

13 A 33 8 53 A 73 C 93 C 113 C 133 D 

14 D 34 D 54 B 74 D 94 A 114 8 134 D 

15 B 35 C 55 C 75 8 95 A 115 8 135 A 

16 A 36 A 56 D 76 A 96 C 116 B 136 B 

17 D 37 C 57 D 77 D 97 A 117 C 137 C I 

18 C 38 C 58 C 78 8 98 D 118 C 138 8 

19 D 39 D 59 C 79 D 99 C 119 8 139 C 

20 D 40 A 60 B 80 A 100 D uo D 140 A 
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